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Macbeth and Narrative Writing

WHY?:

Being able to plan, organise and
articulate your own narrative is a skill
that will not only benefit you for your
exams in summer; these skills could
help build towards careers in sectors
such as journalism, novel/playwriting,
film production and editing and many

Key questions to consider...

Am I using the best vocabulary I can use?
Am I varying my use of punctuation?

Am I using a variety of language features?
Is my writing detailed and engaging?

Am I showing rather than telling?

Exposition

Denouement

Key Vocabulary

heinous, mercurial,
foreshadowing, barbarous,
caliginous, culpability, reticent,
tension, climactic, malice.

Character/Narrator Types

Protagonist/antagonist— Leading character or
major character/opposing force. Usually brings
conflict to main character.

Foil— a character who contrasts another
character.

Omniscient Narrator— knows everything about all
the characters.

Unreliable narrator—a narrator who has had their
credibility compromised.

Styles of Openin

. The rhetorical start—starting your piece
with a single, or series of, rhetorical
question(s).

. The statement start—starting your piece
with a strong topic statement that will
grab the readers’ attention.

. The hypothetical start—putting your
reader in a “what would you do?”
scenario

. The flashback start—starting your piece
by going to a place/event in the past.

Language Devices

Extended Metaphor— a metaphor
that is introduced and further
developed throughout a piece of
writing.

Sensory description— describes
objects in a manner that can be
experienced through the senses.

Foreshadowing— a warning, or
indication, of a future event.

IMAGERY—visually descriptive or
figurative language.

PERSONIFICATION— attributing a
human behaviour to something
non-human.

OXYMORON—to have
two contradictory terms
next to each other.

HYPERBOLE—immense
exaggeration.

The Big Qgestion: Is my writing compelling? Does it incorporate a range of complex ideas?

Page 2




Language Paper 2 Knowledge Organiser

AO1-AO6 OQOUESTION 1 OUESTION 2 OUESTION 3 OQOUESTION 4 OQOUESTION 5
AO 1: What (do 4 marks, AO1 8 marks, AO1 12 Marks, AO2 16 marks AO3 40 Marks
you understand
what the text is S5minutes 10 minutes 15minutes 20minutes 24 Marks Content and Organisation
saying?)
A02: How (do Examiner is looking 2/3 points 3/4 points 2.5 sides of writing 16 marks SPaG
you understand for:
how the text is . Understanding | Examiner is looking for: Examiner is looking for: Examiner is looking for 55 minutes
communicating of the text . Understanding of | e Evaluation of the | understanding of
its message?) o Ability to the text- includ- writer’s choice of the author’s 2.5-3 sides of writing (about 6 paragraphs)
AO3: Why (why interpret and ing inferred language and its attitudes
is the text as it is? identify implicit meaning intended impact | e Description of the Examiner is looking for
Why did the and explicit . Use of detailed . Use of relevant author’s methods Aos
writer choose for meanings. evidence from evidence from (longuage and . Accurate spelling punctuation and grammar
it to be that the text the text structure) . Use of a range of punctuation
way?) . Comparison of . Use of . Sophisticated . Use of a range of sentence structures
AO5: Structure the content of appropriate comparison . Paragraphs joined with connectives indicating a
and Content the texts terminology ° Use of appropriate flow of argument
AOG6: SPaG . Single word terminology . Ambitious vocabulary
analysis (zoom) . Use of literary device

Vocabulary Contrasting Connectives (02 & 4): Language Devices (Q3): Non-fiction Devices (04 & 5):
Bank:

Similarities simile — Comparison of one thing with another thing using | Amnecdete — a short, amusing or interesting story about a real person/
Imagery Equally the words ‘like’ or ‘as’. incident
éir:tcelr:lly:(;ttf)li Islllf::lvql:; Metaphor — A figure of speech in which a word or phrase :::icﬂl structure — the events at the end are similar to those at the
Inference as with is qpplied to an object or action to which it is not literally
Synthesise like applicable. Emotive description — description that appeals to, or expresses,
Perspective in the same way Personification — The attribution of a personal nature or emotion.
Tone human characteristics to something non-human, or the Exaggeration/hyperbole — exaggerated statements not meant to be
Accusatory To contrast representation of an abstract quality in human form. taken literally.
Diplomatic whereas
Impartial instead of Anaphora — The repetition of a word or phrase at the Listing — giving more than one example.
ObjeCtive alterna.t Wely beginning of successive clauses. Triplets — describing something using three descriptive terms.
Subjective otherwise
Pessimistic unlike Epiphor‘c - The repetition of a word or phrase at the end Direct address — Talking to the reader directly.

but of successive clauses.

on the other hand Repetition — repeating something that has already been said for

by contrast

Hyperbole - Exaggerated statements or claims not
meant to be taken literally.

emphasis.

$tatistics — a fact or piece of data involving numbers.
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Maths - Foundation

HR Picture perfect
Probability P
Key vocabulary it Types of events
Head .
Probability BT TRl ekl - 0505025 i Mutually exclusive
& ¢
Random MT_”I 05 el | Tabead - 05%05=025 Events that cannot happenat the same
Likely U T Tail | mmad - -~ 05x%05=025 time
Impossible . .
P o Rollinga die > P(1 and 6)
gf;::‘;ﬁl‘;;e:':j;‘w D Venn Diagrams [ All probabilities from the event will
Unbiased A 5 ) pEy sum to make 1
Theoretical probability @ GD @
sample space = ” T Independent events
T tabl Complement of A
T::Z‘;:‘g’r:me i Events where the outcome of one doesn’t
Venn diagram @ @ @ affect the outcomes of the others
Dependant icki fab laci
Independent = = T Picking a counter out of a bag, replacing
Conditional probability ikl i s it and repeating.
Dependent events
- 19 Wendy goes to a fun fair.

Assessment style question Mumesi Events where the outcome of one does

The probability that she wins at Hoopla is 0.4

e g affect the outcomes of the others

Horl — Picking a counter out of a bag, not

replacing it and repeating.

et Calculating expected outcomes

ot P(event) X number of trials

nol win

() Work out the probability that Wendy wins at Hoopla and also wins on the Page 4
Coconut shy.




Maths - Foundation

VOl ume Picture perfect
Volume is the space inside a 3D shape. Volume units include mm?, cm?, m? etc.
Key vocabulary (Votame o \ Volume of a Cylinder
V I Xﬁlz:: issnlti[:!efinguurr"e‘?er of cubic units that
olume he(:%'“ Base Area _ .
Cross section w VEEXxwxh Radius V' =Bh e
Length 5 =4x3x3 w'Eth e Volum/e' T
. = 36 length () Base Area Height
WI.dth 3ft Volume =glength x width x height h
HEIght 4ft Volumme = 36 cubic feet| |- Youme=Lxwxh |
Pi (r) B= mﬁz
Circumference Va I
Diameter Base Radius
. Area
Radius
i 3 . . .
Units Volume of triangular prism = arca of cross-section X length
I
= =xbxhxl
2

Assessment style question

Calculate the volume of this shape.

e

Tem

The cube on the TV show “The Cube” is a cube with each side measuring 4m.
Work out the volume of the cube.

12em

The cuboid and the triangular prism have the same volume.
Find x.

Volume of Cone
Volume of Sphere

1,
. : . . 4 =7
A solid sphere fits perfectly inside of a cube box of side length 10cm. —— 7 3
8cm 3.2em . What percentage of the box is empty? " 3
20em @ =YYy T
5em — Page 5




Maths - Foundation

Solving:

e Factorising
e Formula

x= 3o0rx="4

Factorising: % 3
easy.. 2.7 .12= 0% oo
(x+3)(x+4)=0 difficult!

e Completing the square

e Drawing a graph

Completing the square:
X% + 4x -3=0_

(x+2%~4-3=0

(x+2)P%-7=z0
x+2=+\7
x=+\7-2

half of 4x

M:U+1on+ 22

ax’+ bx + ¢

Quadratic Equations

Difference of Two Squares:

x% - 16
(x-4)(x+4)

X squared subtract
4 squared

_

multiply
- &
) &Ow
3x% - Bx + 2 -
3x% - 3x - MX.T\N
3x(x-1)-2(x-1)
(Bx-2)(x-1)

The formula:

x = -b #+\b? - 4ac
2a

Graphs:

draw lines to
find solutions
x

NP

_ Parabola - u shaped graph

Page 6
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Assessment style question

Factorise x®- 13x + 36
(1) Hence, or otherwise, solve the equation x2-13x +36 = 0

®

3.

=

2 w -

© +

3 m_z m_z

ot ] I
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Maths - Foundation

Scatter graphs Picture perfect

A . ,
sumimaty Line of Best Fit .
Kev VOoCa bUIa I’V A Scatter Graph helps us to determine whether there is a link
between two sets of data. Bra km X
Scatter graph If a graph has a 'direction’ we can fit a Line of Best Fit to it. ) g
If there is a link we call it a Correlation. Distance
Plot ' . These three graphs show example of; (in Metres) X
Positive correlation W saarive W roarreve N Hons
. . Art l: X% " 1.5 ) 5| X x
Negatlve correlation HERE - x £ T i X
No correlation FRERSFENCERN WEREEUEE § TR .
. . :: | x L% x| zl X
Line of best fit " L oas .
10 20 30 40 50 60 70 W?.O.::g 8 91011 .1‘7.:‘3:;‘!""‘1? 30 35 4045 50:(5(:"1)65 70 75 x
Interpolate “'
Extrapolate >

Mass of Car (in Kilograms)

Making

Extrapojation Predictions

An extrapolation is
a prediction
beyond the given
data points

Height (cm)

Assessment style question

5. Make a scatter plot with a proper title (at the bottom) with the data and answer the question P | Ot the fOI I OWI ng Scatter gra ph a nd
S e estimate a line of best fit.

@ www.tapintoteenminds.com YW @MathletePearce

The yearly data have been published showing the number of releases for each of the

7 det kme bo . ; BTN Making
commercial movie studios and the gross receipts for those studios thus far. Based on these T T T T T 1 o
data, can it be concluded that there is relationship between the number of releases and the Heighf' cm 157 | 160 { 148 160 177 [ 156 [ 166 170 |n[erp0|ati0n PI’EdIctlonS
gross receipts? + 4 + \ F -

No.ofreleasex |31 (200 206 32 33 15 (9 |11 |18 Weight, kg | 53 |60 ‘ 44 |53 |54 ‘ 60 ‘ 54 (70

Gross receipts y ‘3744 2062 1571 1664 214 301 258 134 155

An interpolation is
(millions $)

a prediction
between given
data points

Height (cm)

Time (min)

tapintoteenminds.com Y @MathletePearce

Page 7




Maths - Foundation

Inequalities Picture perfect
Key vocabulary Inequality Symbols
< — Less Than
Less than
Less than or equal to = Greater Than
Greater than

Greater than or equal to
Represent on number line
Solve

— Greater Than or Equal to

>
< — Less Than or Equal to
2

Assessment style question

Solve the inequality

4x+352(3x-1)

Choose the comect inequality that best describes each graph.

’ /-
(1) \’21-
15 -10 5 w0 s 5 4-3210121345¢67
Answer [3]
a) x<l+= b) héT‘»x a) 15<34x-7) b) 3M4x-7)<15
o] Iv% X d) 1'.-I+65—x 0 34x-7=15 d 155 3(dx-7)
\ J\

y,

0o0—

| | 1
3210 1 2 3

x>1
X is any number greater than 1

Examples: 2, 3,4, 5...

x2>1

X is any number greater than or
equal to 1

Examples: 1, 2, 3,4, 5...

—
-
-

-2<x<1

x is any number greater than -2
and less than 1

Examples: -1 and 0 only

x<-1
x is any number less than -1

Examples: -2, -3, -4, -5...

x<-1

X is any number less than or
equal to -1

Examples: -1,-2, -3, -4, -5...

o )

32101 2 3

-3<x<2

X is any number greater than or
equal to -3 and less than 2

Examples: -3, -2, -1, 0 and 1 only

Page 8



Maths - Foundation

Picture perfect

Pythagoras’ theorem

Key vocabulary

Hyp0tenuse For any right triangle h=hypotenuse
Right angled triangle with sides a and b and
hypotenuse h, the square
Rearrange of the hypotenuse Is
equal to the sum of
Solve the seuures of W
Missing side other two sides.
Square
d h’= a’% b®

Square root

Assessment style question

Find the length of the missing side of each triangle.
Give your answers to 2 d.p. where appropriate.

7cm

4 cm

S
a°

9 cm

3cm

?.cm

right
triangle

right angIeT

hypotenuse

v

-
a’+ p?=¢?

b

r x*=100

Find the missing length x
X is the hypotenuse ¢
al+b?=¢?
8cm 62+82=x?
36+64=100

6cm

x=10cm

13cm
5cm

X

Find the missing length x
13 cm is the hypotenuse ¢
a’+b?=c?

X2+ 52=13?
x2+25=169
x2=144
x=12cm

Page 9



Maths - Foundation

Simultaneous
equations

Key vocabulary

Solve
Substitute
Eliminate
Variable
Linear
Quadratic
Simultaneous

Picture perfect

What are simultaneous equations?

X*ygg + If x=3 and y=2 both

equations are true

ZX + w 2 lz + If you are asked to solve

simultaneous equations,
you are being asked to find
the values for x and y
that fit both the
equations.

Assessment style question

1. Solve the simultaneous equations

5x + 3y =41
2% +3y=20

Do not use trial and improvement

Solve the simultaneous equations

2X+4y =26
x-y=4

Do not use trial and improvement

This is when you have two equations with two unknowns
which you can solve either algebraically or graphically.

Example 1

Solve the simultaneous equations:
3x+y=7(1)
Sx+y=5(2)

Label the equations 1 and 2.

The coefficient of the y values is the same so we
want to eliminate the y values. We must subtract
one equation from the other as both y values
have the same sign.

@-()
Sx+y=5_
x+y=7
> ==
Therefore, x = =1,
Substitute this into equation (1)
IX-1+y=7
-34+y=7
y=10

Check your answers by substituting both values
into the other equation.

5X-14+10=5 Solve the simultaneous equations:
3x+2y=23
Sx—6y=1

The solution to these simultaneous equations is given by

the point where the lines meet.

The x-coordinate gives the solution of x and the y-

coordinate gives the solution of y.

In this example, the solutionisx = 5andy = 4. Page 10



Maths - Higher

V0| ume Picture perfect
Volume is the space inside a 3D shape. Volume units include mm3, cm?, m3 etc.
Key VocabUIarV m (" Volume formula
Volume o i heigit ¢
. (n) e
Cross section s V=Lxwxh hJ
Length V=4x3x3 width ! a
Width V=36 length (£) b b
3t Volume = length x width x height 2
H9|ght 4ft Volume = 36 cubic feet| \ _Volume = /XWX h | A=6l A = 2ab + 2ac + 2be A=2mr(r+h)
. =13 =nr?
Pi (n) A B UL 1 e S
Circumference
. T,
Diameter
Radius I
Units® @
eb—tt/l‘
A=2nr?
V=2 V=7 bhl
3
ks 7\ J
Assessment style question e MECTEEN MECTITER
The cuboid and the triangular prism have the same volume. § =
Find x. s WL N AN
: \ ]
8cm 3.2cm@ mm:m; A=7ri+mrs . .
2 = mﬂh;:“,;:, - V= %m.z h V=3 R+ R [ |y = ybaseareaxh
' ' \ P I o 2% J
Asolid sphere fits perfectly inside of a cube box of side length 10cm.
What percentage of the box is empty? Page 11




Maths - Higher

Solving:
e Factorising

e Formula
e Completing th

e Drawing a graph

multiply

Factorising: %V ) il
easy... N ettt e
=3/ X~+ Tx+12 = O,mUlv .. more wXN - Bx + N\\@
(x+ mXx +4) =0 difficultl 3x? - 3x - Zx + 2
x="3orx="4 3x(x - 1) - 2(x -1)
_ (Bx-2)(x-1)
e square
The formula:

Quadratic Equations

X2 + 4x -3=0_

Completing the square:

ax’+ bx + ¢

x = -b +\b? - 4ac
2a

X —) —

Page 12

em— —JD_% O.m 4 3
(x+2)*-4:3=0 = Cicis
(x+2)7°-7=0 —subtract 22 ~ a.woi _m:a. to
x+2=4V7 e —— find solutions
x=7-2
Difference of Two Squares: l{\
x% - 16
X squared subtract
(x-4)(x+4) oa uacnhh«a _ Parabola - u shaped graph
\ / _
]
po )
O (o) “
] c - t
e o= c B
f I
- 7)) © H
O |- L =
(o1 - = g
218 o 5
= &) = % 3
L “ -
8 — o @
5 | (G £ ]
O & 8
b (&) T
% 3
2 8
/ K m m.
£ =
@ €
c
| -
) R
= » w| & = .
(1°] o <)) s H._z ,_._2
a u o = =
= =1 O & [ _u_.
7 £ a
O c 3 g 9 2 T = a
e > .8 oS — -
— m ..—..m w m ."N ..m N
= ERE gk 2 3
a o) m o fm Dn.w 3 & wn ..ﬂ
°o
= s e g g g : fe &
o O B & = S < MD wn s I I
© S| 8T ELC-C 0w 7] a A A
-5 o] € c = m - N b)) £ — e
> g 0 ©® & 5 9 = 4 g = o
Ol||Z 3 FERE S 2
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Maths - Higher

Scatter graphs

Key vocabulary

Scatter graph

Plot

Positive correlation
Negative correlation
No correlation

Line of best fit
Interpolate
Extrapolate

Picture perfect

Summary

A Scatter Graph helps us to determine whether there is a link
between two sets of data.

If a graph has a 'direction' we can fit a Line of Best Fit to it.
If there is a link we call it a Correlation.

These three graphs show example of;

€) NEGATIVE €) POSITIVE €) NONE
Art 100 % 1.5 I 5
: = 14 X 4 X
x % X 2 R g
70| X ,E. 5 x
60| x ~l.3 3
50| x 2 x ! g x
® 3 * i’ 3 x X ;z .
: A x— X z *
x 11 1
10) X

X
TS0z 141516 30 35 4045 S0 55 60 65 70 75

10 20 30 40 50 60 70 80 90 100
Maths Hand Length (¢ reight(Kg)

gncastozMatictcom!

Assessment style question

5. Make a scatter plot with a proper title (at the bottom) with the data and answer the question
using hypothesis test.

The yearly data have been published showing the number of releases for each of the
commercial movie studios and the gross receipts for those studios thus far. Based on these
data, can it be concluded that there is relationship between the number of releases and the
gross receipts?

No.ofreleasex [311 1290 206 32 33 15 9 11 18

Gross receipts y
(millions $)

3744 2062 1571 1664 214 301 258 134 155

Plot the following scatter graph and
estimate a line of best fit.

Height,cm | 157 | 160 | 148 | 160 (177 | 156 | 166 | 170

Weight, kg | 53 |60 |44 |53 [54 |60 |54 |70

Braking
Distance
(in Metres)

Line of Best Fit .

Extrapojation

Height (cm)

A LT

Time(min)

»
”

Mass of Car (in Kilograms)

Making
Predictions

An extrapolation is
a prediction
beyond the given
data points

YW @MathletePearce

Making
Predictions

BTN
Interpolation

An interpolation is
a prediction
between given
data points

Height (cm)




Maths - Higher

Quadratic Equations

Key vocabulary

Equation

Quadratic

Factorise

Formula

Substitute
Coefficient
Complete the square

Picture perfect

Positive
quadratic
‘v’ shape ©

Negative
quadratic
‘n shape

Assessment style question

1.

Find the roots of the quadratic equations by using the quadratic formula in each of
the following:

60 20-3x-5=0 (i) 52+ 13x+8=0
(iii) 3¢+ 5c+12=0 () =+ Tx-10=0
W) ¥+ 2x-6=0 (i) - 35x+10=0

(vii) %x’- Hx+1=0

Find the roots of the following quadratic equations by the factorisation method:
5 2 3

- Zx_2= i) =X —x-= =

(1)2x’+3x20 @ 3% -x-35=0

(ii)) 3y25* - 5x- 3 =0 (iv) 3¢+ 5/5¢ -10=0

1
) 21x’—2x+§ =0

An equation where the highest power of the variable is 2 ‘ Factorising @ # 1 Quadratics

ax? +bx +c ?x+ )Ox+ )

Factorising @ = 1 Quadratics Factors of a to find 5x2—14x -3

Aim: Convert quadratic + + POl (SX i )( xt )
into double brackets (x — )(X — ) 6x? 2 Bx+ )2xt )
X‘t+x—2= OR
rule [ Establish Sign: ] 6xt )(xt )
Ifc is posmve Signs are same l Then find factors of ¢ and see which satisfyb ]

Addto  Multiply x4 5 (x+3)(x+ 2)‘

makeb tomakec

If cis negative  Signs are different

| 2 +54=6) x+6)(x-1)

FERED [
lel

Positive ¢ — Signs Same
Negative b — Both Minus

6x2

)x- ) Coxt=-8l=(x+9)(x -

of 12 Which pair make 7? )

Difference of Two Squares (DOTS)

‘—b?>=(a+b)(a-b)

9)

@ a-Hr-3) P -25=2y+5)(@2y-5)

The quadratic formula

The formula _b i. ﬂbz — 4ac

you need to X =

know Za

Substitute values into the formula to generate two

answers for x
sz +8x—4 [ldcnmyvalucs ofa,band c]
a b ¢

_-®)+ /B 464
B 2(5)
a [ Substitute and simplify ]
-8+ V1
10
6 [ Carry out two calculations ]

x=040r=-2

Page 14



Maths - Higher

Equation of a circle

Key vocabulary

Equation
Circle
Radius
Origin
Gradient
Intercept
Reciprocal
Tangent

Picture perfect

Parts of a Circle

CAS

Radius Diameter  Circumference
Chord Arc Tangent

Q@

Segment Sector

A The equation of a circle
y-axis centered at the origin

X-axis
B

Assessment style question

How many mistakes can you find?

The graph shows a

circle, centre (0,0) gradient of radius = % = -2

so gradient of tangent = |

substitute (4,-2) intoy =4x+¢
=>4=-1+c

\ =c=5
42
y=21x+5

Find the equation of a
tangent to the circle at (4,-2)

0,0

(origin)

v

Gradient of Tangent at a Point

Example 1: The circle with equation x2 + y2 = 25 passes \yA
through the point (3, 4).

xy)  Xe+yizrl

The gradient of the radius
connecting (0, 0) and (3, 4) is

(3,4)
Find the equation of the tangent to the circle
at that point.
As this circle has an equation of the form N
X2+ y2 = 12, it has centre (0, 0) / 2

So the gradient, m, of the tangent at (3, 4) is

&Iw ulc.

The equation of the tangent has the form y-y, = m(x - x,)
Atthe point (3,4), x, = 3and y, = 4
So substituting these values gives y-4 = 73 (x=3)
Expand brackets y - 4 = % X+ =
Add 4 to both sides to give the equation of = W 25
the tangent in terms of y e i :

Key Stage 4 Maths Topics - Algebra




Maths - Higher

Probability

Key vocabulary

Probability

Random

Likely

Impossible

Certain

Relative frequency
Probability scale
Unbiased

Theoretical probability
Sample space

Two way table

Tree diagram

Venn diagram
Dependant
Independent
Conditional probability

0.

Picture perfect

N 05__» Head |MeadHead -----> 05x0.5=0.25
05 Head —
’/;;/" h“ﬁﬁ;~*'nd Head, Tail  ----- - 05x05=025
Aldd

kw 05 fead | TalMed o> 05x05=025
-

05 Tail Tail, Tail - ---- = 05x05=025

1.00

Venn Diagrams

Corbettmaiths
A A'

Complement of A

D

B AUB ANnB
Complement of B A union B Aintersect B

Assessment style question

19 Wendy goes to a fun fair.
She has one go at Hoopla,
She has one go on the Coconut shy.

The probability that she wins &t Hoopla is 0.4
‘The probability that she wins on the Coconut shy is 0.3

(a) Complete the probability tree diagram.

Hoopla Coconut shy
Wendy
wins

Wendy

wins

o . Wendy does

not win
Wendy

Wendy docs
not win

(b) Work out the probability that Wendy wins at Hoopla and also wins on the
Coconut shy.

number of success ful outcomes
total number of outcomes

P(?,):z% i

implify
3

P(Event)=

answers
VAv 8 where
possible
P(aorb)=P(a)+ P(b)
2 1 3 h

P(2or4) ==+ -[E)— | Addeach
8 8 8 probability
y

The ‘AND’ rule (independent)

| P(aandb) = P(a) x P(b)
Flip a coin twice1 . . Multiply h
P(2tails) == x =By~ | each
2 2 "4 probability)
Page 16



1. Key Words

Science: GCSE Organic Chemistry

General Formula

CnHans2

Hydrocarbon Compound made up of anly carbon and hydrogen atoms

Saturated hydrocarbon containing only single bonds
Alkane

between the atoms

Unsaturated hydrocarbon containing at least one double
Alkene

bond

A process that uses high temperatures and a catalyst to
Cracking break down long chain alkanes into smaller alkanes and

glkenes making more useful products
Fractional A process of separating the different chain lengths of
Distillation hydrocarbons found in crude oil

Fossil fuel made from the remains of dead plants and sea
Crude oil creatures millions of yvears ago and contains a millions of

years ago, containing a mixture of different hydrocarbaons

2. Properties of Hydrocarbons

This refers to the thickness of the liguid hydrocarbon. As
Viscosity the length of the hydrocarbon chain increases, the viscosity
increases and the liguid compound becomes thicker
This refers to the temperature at which the liguid
Boiling point hydrocarbon changes into a gas. The longer the
hydrocarbon chain, the higher the boiling point
Flammable This refers to how easily the hydrocarbon sets on fire. The
=maller the hydrocarbon chain the more flammable it is

Challenge Questions

1 How is crude oil formed?

How could you investigate the effects of temperature on the viscosity of a
hydrocarbon?

Alk Alk
ane ane Alkane structure
name farmula
H
|
Methane CH4 & Cl d
H
H H
||
Ethane C2Hs H_T_ﬁ_H
H H
H H H
S
Propane CiHz || |
H H H
)
Butane CaH1a H_?-{F_(I:-G_H
H HH
H H H H H
[ O
Pentane CsHiz H——(—(—(=—(C—H
(S O N
H H H H H
H H HHH H
| | | | | |
Hexane CsHia H'—*{I}—*CI}'—*II:'—(II'—*(IJ—?—H
H H HHHH

2
3
a

Research some uses of simple alkenes [ethane to hexane)

Page 17



Science: GCSE Chemical Analysis

1. Key Words

Pure substance

A substance that contains a single element or compound,
not mixed with any other substance

Formulation

A mixture that has been designed for a specific purpose

Melting point

The temperature at which a substance changes from a
zolid to a liguid

Boiling point

The temperature at which a substance changes from a
liguid to a gas

2. Chromatography

and DNA

The R value is a measure of how far up the chromatography paper the solute
mowves compared to the solvent.

Rfequations

Distance moved by the solute
Distance moved by the solvent

1 | Baseline Pencil line that the solute is placed on
2 | Solute The final position of the solute
3 | Solvent front The final position of the solvent
4 | Distance moved by the solute
5 | Distance moved by the solvent

3 — —

2 L ® 5

4
1] — % :

3. Testing for Gases

the gas

zas Test Positive Result
Hydrogen Place & lit splint into the gas | Squesky pop noise
Place & glowing splint into
Oxygen g £=p Splint will relight

Carbon dioxide

Bubble the gas through
limewater

colourless to cloudy

Limewater will change from

Chlarine

Place damp blue litmus
paper into the gas

bleach to white

Litmus paper will change
colour to pink and then

C @

> @
h @

eI Pe
|

Challenge Questions

1 Mame 3 formulations

2

3 Why might you need to test for the presence of a gas

a Use the diagram above to explain the relationship between Ry value and the
distance travelled by the solute

Page 18



Science: 6CSE Organic Chemistry

4. Fractional Distillation

1. Inafurnace, crude oil is heated until it boils.

2. The vapour then passes into the fractionating column which cools as it
moves up the column.

3. Those hydrocarbons with the highest boiling points condense first and
are extracted.

4. This continues up the column

Fraction and chain length | Use

1 | FuelgasiC1l-4)
2 | Petrol [C5-10)

In camper stoves and gas bottles

Used as fuelin cars

3 | Kerosene [C 10— 18] Used a fuel for aeroplanes

4 | Diessl (C14-20) Used as fuel for cars and lorries

5 | Lubricating oil (C 20— 50} Used in making cils, waxes and polishes

& | Bitumen (C 70+) Used to tar roads and felt roofs

Lrude Ol
Faratind bip——
= B00PC

5. Alkenes and Cracking
Formula of alkenes

Alkanes contain a double bond between one of the carbon —carbon bonds
e.g. propene H H
H
H C C C
“H
H

Cracking: Most hydrocarbons produce products with limited or no use.
Cracking allows the large chain hydrocarbons to be broken down into useful
products.

Conditions needed for Temperatures between 450 - 700°C
cracking A catalyst called zeolite which contains aluminium
oxide and silicon oxide

Loy HyingC e o

1
- -
|

I

(W Ty

"'-.

C=C_C H—-C—-C—-C—-C—C—H

4 [ I I

H H HHHHH
Al

Testing for the presence | Adding bromine water to the sample. If the sample
of alkenes turns colourless, then the sample is an alkene.
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Science: GCSE Using Resources

1. Key Words

3. Extracting Copper

Finite , Copper is a finite resource that is becoming scarce
A resource that will eventually run out , N ] )

resource Sustainability can be improved by extracting copper from low
Renewable Resources that reform at a similar, or faster, rate grade ores
resources that we use them Plants are grown in copper rich soils
Life Cycle The plants absorb the copper and levels build

¥ An assessment of the environmental impact of a , P PP
Assessment roduct over each stage of its life up in the eaves
(LCA) P g Phytomining Crops are harvested and burned to leave ash
Sustainable Meeting the needs of the present society whilst not containing copper compounds
development | damaging the lives of future generations Copper is extracted using a displacement

reaction with scrap iron.

2. Life Cycle Assessments Bacteria are used to convert the copper
These are often used to determine the most environmentally Bioleaching compounds in the ore into soluble copper
viable option in production of a product. compounds

LCA Stage Plastic bag Paper bag The copper is then extracted using electrolysis
Raw Materials Crude oil Timber

packaging

Manufacturing and

Key components
extracted by
fractional distillation.
Waste has other
uses

Takes lots of energy
to pulp timber and
creates lots of waste

Using the product

Reusable

Single-use

Product disposal

Recyclable, not
biodegradable

Biodegradable and
recyclable

4. Recycling

Recycling helps to save on the large amounts of energy required to extract
and process natural resources.

Material

Process

Extra Info

Recycling metals

Waste metals are melted
down and recast into
new products

Amount of separation
required for the recyclable
metal depends on the metal
and the final product

Recycling glass

Waste glass is separated
in to colours, crushed
and melted

This is then reshaped in
to new products

Glass bottles can also be
washed and sterilised and
used again instead of
recycling them
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Science: 6CSE Using Resources

5. Treating Water 6. Waste Water Treatment

Key Word Definition 1 | Screening Large waste products are removed
Potable water Water that is safe to drink such as paper
_ 2 | Sedimentation Tiny particles settle to the bottom of
Pure water Water that contains only water molecules a still tank that then splits in to two
Ground water | Water from underground rocks and rain sections effluent and sludge
Treating ground water to produce potable water: 3 | Aerobic digestion of The effluent is treated with aerobic
organic matter bacterial to reduce the volume of
1 Passed through a mesh that remowes larger debris such as twigs and solid waste
stones . . . R
2 Passed through a filter to remove any smaller solid bits 4 | Anaerobic digestion of | The sludge is digested anaerobically
organic matter by specific bacteria
3 Water is sterilised to kill off any harmful microbes using chlorine, ozone 5 Released back into the | The treated effluent is returned to
ar UV light . .
- environment rivers and water ways
There are two methods of treating salt water to produce potable water: -
6 | Natural gas Methane gas is produced from the
Distillation Reverse o0smosis anaerobic digestion of sludge and can

Water is boiled and the condensed | The water is passed through a be used as a fuel

to remove the salt membrane that only allows water 7 | Fertiliser The remaining sludge is rich in

molecules through minerals and can be used as a natural
fertiliser

Life cycle stage of a pillow case Lifetime energy use (%)

Raw materials 10

Manufacture 15 g

Use 70

Disposal 5

Challenge Questions

1 What do humans use natural resources for?

Evaluate the use of energy in the lifecyde of a pillow case and suggest how
the energy use could be reduced

2
3 Why might extracting metals form low grade ores desirable?
4
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1. DNA

1 | Nucleus

Science: GCSE Variation, Inheritance and Evolution

COrganelle that contains the genetic material

2 | Chromosomes

Long molecule of DNA that comes in pairs

3. Cell Division in humans
Mitosis

Meiosis

Used for growth and repair

Used in the production of gametes

3 | DNA

Seguence that codes for the

Once cell division per cycle

Two cell divisions per cycle

Gene

Single section of DMA that is responsible to specific
characteristics

Daughter cells contain 46 chromosomes

Daughter cells contain 23 chromosomes

4. Key Words

Gamete Sex cell
Allele Single gene from a gene pair
Genotype Coding used for a characteristic
Phenotype Description of the chearacteristic
Dominant An allele that is always expressed
Recessive An allele only expressed when there are 2 recessive
2. The Human Genome Project genes present
Genome The entire sequence of the genetic material in an Homozygaus Alleles code for the same characteristic
organism Heterozygous Genes code for different characteristics
Hurman 25 year research project that mapped the entire human Sexual reproduction Fusing of nuclei from gamets, produces variation
Genome Project | genome to identify specific locations of the genes each Asexual reproduction | One parent, produces genetically identical offspring
chromosome. Mutation A random change in the seqguence of DMA
Application Advantage

Genes linked to
genetic diseases can
be identified

Gives a better understanding of how genetic
diseases are inherited, so effective treatments can
be developed

Wariation

Changes in a population caused by a mutation
(differences in phyisical, chemical and behavioural
characteristics between organisms or individuals)

Tiny differences in
peoples genomes can
be studied

Helps to trace migration patterns of past human
populations

Genetic variation

Variation that is caused by the inheritance of alleles
of genes

Environmental
variation

Variatio that is caused by the effects of
environmental factors
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Science: GCSE Variation, Inheritance and Evolution

5. Determining Gender

Female Genotype X

Male Genotype XY

Each time an egg is fertilizsed
there iz a 50% chance it will
be a girl.

6. Inherited diseases

Caused by a recessive gene ] ]
Cystic Fibrosis Affects the cell membrane formation, causing mucus
to build up in the lungs and digestive tract

Caused by a dominant gene

Causes an extra digit to grow on the hand or feet 10 " 12

. Key .
7. Embryo Screening
. Female without disorder . Male without disorder

This is where one cell from an embryo is taken and the DNA is checked for
the presence of specific genes

Polydactyly

FDF f—'igEI iI'ISt O Female with disorder Male with disorder
It will help prevent people suffering Screening is expensive
People might want to screen SR a=tions
Treating disorders costs the i & , Challenge Questions
embryos so they can pick the most 1 | what is the function of DNA?

government a lot of money

‘desirable” trait
Ethical issues as embryos found with
genetic disorders are often
destroyed (killing potential life)

There are laws to stop the procedure
being misused

2
3
4 Evaluate the statement — if porents 3 and 4 hove another boby, there is o 50%
chance of having o chitd with the disorder’ Justify your answer
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Science: 6CSE Variation, Inheritance and Evolution

3. Evolution

10. Fossils

The theory of EVOLUTION by NATURAL SELECTION was put forward by Charles

Darwin
Stage Explanation
1 | variation There is genetic variation within a population caused by inherited

genes

2 | Competition | Cver production of offspring leads to increased competition

Individuals with beneficial adaptations are maore likely to survive

3 | Selection .
to pass on their genes

4 | Inheritance Ower many generations there is a change in the allele freguency

Species A group of arganisms that have similar features that can breed
to produce fertile offspring

9. Extinction

When the all the organisms of a species have die and
there are none left alive

1. MEW disease

MEW predator

Lack of food

Climate change

Matural disasters

What is extinction”

Causes of extinction

ok

What are fossils?

Rermains or imprint of an organism that dies millions of
years ago, found in rocks, ice and peat

How do fossils form?
[rocks)

1. Organism dies and falls to the ground

2. Layers of sediment over the dead organism

3. Ower millions of years, the layers turn to rock and
minerals in the rock replace the minerals in the bones
of an animal

This happens because decay cannot ocour.

What information can
fossils tell us?

Early life was simple.
The evalution of a species can be predicted by looking at
differences between the fossils of a species.

Why do we not have
fossils for the early life
on Earth?

Fossilisation is rare as most organisms decay

Fossils can be easily become damaged as the rocks mowve
due to tectonic plates

Mast early life has soft body forms which do not fossilize

Carl Linnaeus

11. Classification

Developed the system of classification used today

Binomial name

Official name of a species including the genus and species
name

3 domain system
developed by Carl

All organizms can be classified in to 3 domains
* Archaea —ancient simple bacteria, often extremaophiles
* Prokaryote — bacteria

Woese * FEukaryote — complex organisms including animals and
plants.

Group Mnemonic

Kingdom King

Phylurm Philip
Class Came
Order Over

Family Far

Genus Good

Species Soup
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12. Genetic engineering

13. Selective Breeding

Genetic Engineering
(Genetic Modification | DMA of another to change or enhance specific
- GM]) characteristics.

Process of inserting the gene of one organism to the

Plasmid Ring of secondary DMNA in 2 bacteria cell

Genetically engineering insulin using bacteria (HT only)

1 Chromosome containing desired gene is removed
2 Flasmid from a bacteria is removed
3 Enzymes are used to cut the gene from the DNA
4 Enzymes are used to cut owt a section of the plasmid DMA
5 The desired gene is inserted in to the plasmid using enzymes
; The plasmid is placed back into the bacteria, which multiplies rapidly,
copying the gene and making insulin
[ rtuerian oot | mactersim von |
. e
i |
1 E - 2
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Process of selecting individuals of the same species with the desired characteristic
and breading them to produce offspring with the desired characteristics

Benefits of selective
bresding

Produce disease resistant crops, increase the yield of milk
and meat from cattle, increased growth rate of chickens so
meat can be sold earlier, domestication of pets (more
attractive and docile) and many maore

Concerns of selective

It does not always work and takes a long time.

breeding Interbreeding of organisms can cause disease or defects
Method for selective breeding
1. | Select a male and female with the desired characteristics
2. | Bread together
3. | Check the offspring for the desired characteristics
If desired characteristics are present continue to interbreed until the
4. | characteristic is always prezent. If the desired characteristic is not present, go

back to step 1.

Challenge Questions

Why might people not agree with the use of GM crops as food sources?

Compare the information gained from ice fossils compared to the information
gained from fossils formed in rocks.
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Definition

The purpese of @ moad board is bo
assist in the design of a media
product by collecting a wide range of
masterials {images, fonts, colours, ebe)
that give an averall feel for what s
needed. & mood board therefone
privides & starting paint which can be
used for discussion with the dient
and can also be used to kesg the
project an track by referring back ta
it It & not a repréasentation of what
the Finial product will ok like.

OCR Cambridge National Creative iMedia R081 Knowledge Organiser]

Learning Outcome 1: Understand the purpose and content of pre-production

Enample

The aboee moed board shows examplas of
imeges, styles and colours that may be
us=d i a graphic.

Mind Map/ Splder Diagram

Definition

These can ba psed to quickly
generate different ideas or bo show
finks batween diffarent conpepts.
blind maps will have a ceptral thame
with branches springing from it
conmecting different sub nodes, They
are used at the start of the design
process,

Example

This example has a central theme springing
different ideas. Each ides springing fram
the pentral theme is called a "node’

Definition

Starybaards are used for moving images {animationg'film) ta help
plam what will kappen thraughout the course of a soene. &
storybaard will shaw images of what is happening in the wene and
can also be annotated with a description of the soene and how
lang it lasts for. Story boards will help people to visualiss the
carmera angles that will be used as well a5 different aspect of
lighting, special effects/wunds and props/oostumes. are
importanthy a storybaard will show how the differant elemeants of
4 seene fit together, This can be shared with the dient before
production beging so that changes can be suggested and agreed. |t
can also be shared with the Gt and crew a5 @ guide to what they
should be engyged with at a partioular time. Storyboards may also
help to build up &n idea of the budget that may be reguined.

Example
D EinroON _
_ﬁ_]_. . | [ T r — -.T.'_]—[—
H -
."."l.'l .Ili'ln i .,.-;""
1;.".:{": H.i-i lTll 'r‘r o 1 .‘:II I;.
S || H S |

Thie above storyboard shows aach sections place in the wane,

duration and denotes whit will be happening along with a

pictarial representation.

Definition

Wisualisation Diagram

Example

Wisualization diagrams
are used ko plan the
Layaut af & static image in
avwsua manner. This will
gee an indication to the
client af how the final

document might loak.
This will enable them to
suggest changes befare
the image goes inta
procuction which will
save time in the long run.
DWD caver.

The visualisation diagram abowve
gives an accurate portrayal of
whist the final graphic might laaok

likee. In this case the graphic is a

Definition

perform a numbser of
differant Fursctions
ncluding; identifying the
place where an action is
o take place, identifying
which different
characters will ke ina
particular sene,
prividing stage directions
imovements), and stating
what dialogue will be
used ina particular
spane, Soripts will also
contain comiments shout
the particular maod far a
spane which the actors
can uss to take gues

frim

Viualisation Diagram

Example

T
T & e ekl ww
L T
trem § vy

O A SRy, NN W SR

=T
Ry, ko w wiil] mlmmisg
rorwib_ep ey fwnn. W mr o=
2

1 b
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TR rRA G TVRAY, N LEmd kil M RN S

The script above chows the

dialague between the twa

characters, as wall as setting the

scene far what the characters are

thinking and their actions.
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= &, chent brief will sxplain what the client™s nessds are far a
specific product. [bwill also normeally autline who the target sudisnce is for the
product that is to ke designed as well 25 any specific design elements that the dient
mavy fave. |t is then the job of the designer to interpret this to develop sucress
criteria thraugh which the praduct can be developed.

—The target audience is the group of peaple
who the end product will be designed far. The dient could request that the product
be developed far peaple of a certain age, gender, occupation ar with specific
mterests, The type af persan who the praduct i being developed for will have a
huge impact an how it is designed influencing colours, images, complexity, et
‘Withaut having a really good understanding of the target avdiencs i is unlkely that
adesigner will be able to create an effective solution to the dient’s needs.

Theare are & number of dfferent health and safety concerns that cauld ariss in the
media industry including; loud noises, machinery, lighting, weather, heawy lifting,
trip hacards, working with water and electricity. Methads of reducing these risks
nissds o be consdered before work dtartl

- grwes the creatar of an ariginal work the intellectual praperty right to dedde haw the work caninat) be used. The crestar is
protected by the b so that amy breach of copyright could lead to people wha haee used the work withauwt permission being swed. This
could kead ta them hawing to pay compensation to the copyright holder and for businesses would bave a negaties impact an their
reputation. If the creator af an original work feels they would Bee athers to be abls to use it fres of charge then they can register & under a
crestive commans licence to erable prople to do this so long as they adanpadedge the criginal creatar and any limitations 2 bo use,

= o trademark is a method wsed by businessas to make their work recagnisable. This could be in the form of an mage {loga),
ward, phirase, symbol or design. The spmbal ® & used for a registered trade mark and ™ for an unregistered trade mark.

— this legilation makes it the resporsibility of onganisstions to sesk permission to hold personal infarmation about people
1eg. names, addresses, phans number, =tc. ], be transparent shout how they use the information and ensore that it i kept secure. & wach
they need to ensure that they Follow these rules:

Mhaarys hawee permission fram the person whose dats you are staring.
Only osap the amount of data that you have & reason bo keap.

Only keap the information for a5 kang &5 it & reguired.
Cnzure that any information beld is kept up to date.

Cngure that the information is stored in & secure loostion and that all possible steps are taken to avoid thelt, daletion or
madification of data.

Do ek share the information with ather argansations withaut permissian.

Hewer share data with argansations in ather countries that do nat hawve data pratection legislation.

Breach of these rules can lead to legal action being taken against the company and damage caused to its reputation.

— In UK law the right to privacy is pratected under the Human Rights Act 1958, This means that a person bas the right to heres their
private and family life respected, and as such not to be subjected to an imeasion of privacy in their home or ta have their crrespondence
tampered with | past, emails, telsphone, st

— thix is where a false statement has been made about 3 person that could cause damage to their reputation.

L) — This risting & aimed at children of 4 years and alder. As sudh to meet this reguirement media must ensure that there & no language which may be considered discriminatory junless disapproved of) or offensive, Thare
should be ma nudity of & sexual rature and violence will be very mild. Drug used should not be present unbess in the form af an educational message,

=& far U except mild sialence may be permitted as long as it is not prolonged and is in contest. Frightening sequentes where characbers are in danger should not be pralonged and sexual sctivity can anly be implied. e

12 - Misuse af drugs must be infrequent and should not be glamarised, Media should not promote dangsrous acts that could be imitated. Mudity should be discreet and saldom. Horrar images mey be shown however :-,_E::
these shauld not form the main basis of the wiork. Thers may be moderate violence but this should nat kead the viewer to dwell an the detail.

15- Discriminatory language may be used |racist, homophabic, ot ] however this canmat be endorsed by the film. Drug use may be shawn bot this should net be glamarised. Dangerous situations can be showm howeser "r.j
these should not be easy ta imitate, Strang language may be used infrequently and in context. There are no constraints an nudity in a nan-senual nature, Strong vialenoe may be shown but the image should not foous e

an pain or injury.

18 - Thesie warks are desmed as bging suitable onby for adults wha are free to chaose thair own entertainment. @
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Learning Outcome 3: Understand the purpose and content of pre-production

croni s e

Iind rapping — There are multiphe steps which can be used in arder bo create an effective mind map: Depending an the differant type of dooument being crested a different file format
will need to be seledted. The table below outlines the different file formats seailable
for differant types of media:

File L Description
bAPG Widen Files

1. ¥ownesd to ensure that you start with a central idea. This shauld be in the centre of the page so
thit it driws your sttention. You can alea include an image that represents the mind map's tapic,

= - } »  Compressed file formats {Lossy)
this will belp to :trung‘l.‘:wn the :mna:tn:.ln i hawve ko 'th!.* rain theme. . i s Serasller fille ipes
2, Bdd I:rarr:he:.- Ifl:l the mind e — the miain branches .Furrmng,frl.'rn the -:enlfral ide=a shoulkd each P «  Faster loading anfine (speed)
falkow & specific theme, which can then be sxplored in more depth by adding more brandhes from a  Compression lowers quality
theem giving mone detail. SWF Animation = Compressed file formats
3. Ensure that by waords are wsed an separate branches as this will help to spark mare sssociations. » Sl fibe dizet
4, Cokour code the different branches of the mind mag to belp personsise it further and add more »  Fat Inading anline (spesd)
wisual stimulation. | = Can he animatians, games and video
Visualisartion diagrams —when creating these it i important that you remember who the asdience & as FL #  Flmh virden fonmat
this will affeect the amaunt of detail that nesds b be included. Remember this should give the client a | = Notcomgressed
clear idea of what the final product will look ke, Add annotations ar kel where reguired to enhanoe * ‘E::r:: Flash’ saftware
. . . . . s - * it
their understanding. Ao if reguired give an indication of scale. I e Files e Lonsiess comgrestion; photography
Shoryghoards — & storgboard is @ series of diagrams that shows a ssquence of displays. & storgboard should ;'_*'"" T s GIF » Sl file sizesy Online / web buttons
contain the number of scenes, ene content, timings, camera shats (&g, close up, mid, long), camera {' B P PhG +  Logdess comprassion; supparts
angles {eg. ovar the shoulder, law angle, aedal], camera mavemnent (&g, pan, tlt, 2oam o using a track b W F o] transparency; phatography
and dolky], lighting {e.g. types, dinsction), sound (g, dialogus, sound effects, ambient sound, music), N s : | TIFF #  Large file sices / Posters § high quality
lacatians |e.g. indoar studio ar other roam, cutdooes). o printing
POF #  Urreditable Documents
Seripts - Seripts perfarm a number of different functions including: identifying the place where an action & e S WAy hudi Files = Uncompressed | high quality | Windews
o take place, identitying which different characbers will be in a particular soene, providing stage iR E anly
directions [movements|, and stating what dialogue will be used in g particular spene. Scripts will ako e HIFF »  Uncompressed / high quality / Mac only
conkain comments about the particular maod Far @ scene which the ackors can uses ta take gues from. _ - EEEE s Compressed | small file size | good far
detices
Ensure that all files are given an appropriate mame 5o that they could be identified by a third party. Where there are different wersions of a - b
file version cantrol shauld be mplemented by adding the version of the document to the end of the file name eg. W1 waould indicste s % 2

% & o \ TN
that it i the first versian of the file, —t% W X
- % T,
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Learning Outcome 4: Be able to review pre-production documents

Reviewing a Pre-production Document

Intreduction

In order to review a pre-production dooument it is important to @nsure that you are consistenthy referring back ta the
brief [ chent's requirements - Beview and compare your wiork ta the ariginal brief - have you done what was asked?
Hovw? Think about the folowing:

= Format — Has the client specified the type of file format or leyout required ¥ IF nat hoe have you interpreted
whit is needed to deliver an this?

= Sbyle — Has the client requested a specific stybe? Or do you need to analyse the target audience to develop a
suitahle house style? How have pou achieved this?

= (larity — |5 the documentation understandable® Look back at the documentation and think that i you were
the client, would you be able to understand the plans that have been drawn up in sufficient detail in order ta
ke an assessment of whether they are corredt or not. Clarity in the design phase will save a lot of time and
effart in the long run as fewer things will need to be corrected before final approsal.

= Suitability of content for the chent and target audienoe — this could be in terms of the content that has been
ncluded in the dedgn or the level of language that has been used @ g, is it toa simplistic or complex. Pitching
this rightt is a real skl that needs bo be developed aver time.

‘When thinking about what went well in the project, and what could potentially be improved upon, make sare that you
refer baack ta the project bref and comment on the following:

= Format

= Shyle

= (larity

= Suitability of content for the client and target audienoe
= Calour scheme

= Cantent

Analysing Positives and Negatives

‘When writing a conclugion in order to be successful you need to sumimanise in brief how well you fesl pau met the
requirements of the averall brief. Also asseds what you e learnt from the process of the praject and explain
hirew this could be taken foreard inta future projects that you may undertake. You should also gres some
consideration to the future af the project that you have undertaken, How could it be further impeaved ar
extended upon? For example. Yo should write abaut your roke in the project management process e how eell
do wau feel yau maraged your time resturces? How well did you act on advice ar feedback fram the chent?

In arder to make sune that the firal pre-production docurments are professional you should always teke care todo
the Fellowing:

# U vachinical language & terminalogy cormectly and to @ level that will ke understond by the tangat
audience.

+  Focus an corred spelling, grammear and punctuation.

i~ ﬁ'—fl__]"' ;l{.ﬁ“
@Igﬂ:j’ a r.-:-"r % =)

EVALUATWN o o
oy ""S !} A _-: . . 4 | i
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New & Emerging Technologies

(3

. CAD = Computer Alded Design

repeated

Designs can be created, CAD software is complex to
saved and edited easily, learn

saving time

Designs or parts of designs Software can be very

can be easily copied or expensive

Designs can be worked on
by remote teams
simultaneously

Compatibility issues with
software

Designs can be rendered to
look photo-realistic to
gather public opinion in a
range of finishes

Security issues - Risk of data
being corrupted or hacked

CAD is very accurate

CAD software can process
complex stress testing

P
25
Solidworks (D

CAD Software

Quick - Speed of
production can be
increased.

2. CAM = Computer Alded Manufacturing

Training is required to
operate CAM.

Consistency - All parts
manufactures are all the
same.

High initial outlay for
machines.

Accuracy — Accuracy can be
greatly improved using
CAM.

Production stoppage - If the
machines break down, the
production would stop.

Less Mistakes — There is no
human error unless pre
programmed.

Social issues . Areas can
decline as human jobs are
taken.

Cost Savings — Workforce
can be reduced.

k Laser Cutter

T
€+ N
-

Robots Barcode Scanner AGV-Automated

Guided Vehicle

3: Production Technigues
3.1 Flexible Manufacturing Systems (FMS) :
involves an assembly of automated machines
commonly used on short-run batch production lines
where the products frequently change.

3.2 Lean Manufacturing: It aims to manufacture
products just before they are required to eliminate
areas of waste including:

* Overproduction

* Waiting

* Transportation

* Inappropriate processing
* Excessive inventory

* Unnecessary motion

* Defects

3.3 Just In Time (JIT) : Items are created as they are
demanded. No surplus stock of raw material,
component or finished parts are kept.

o )

Advantages of JIT Disadvantages of JIT

No warehousing costs G ) .a gy
supply chain

Ordered secured Stock is not available

before outlay on parts ~ immediately off-the-

is required shelf

Stock does not

become obsolete, Fewer benefits from

damaged or bulk purchasing

deteriorated

7
e

5: Informing Design Decisions

5.1 Planned obsolescence - Planned
obsolescence is when a product is deliberately
designed to have a specific life span. This is
usually a shortened life span.

5.2 Design for maintenance - Products are often
designed to be thrown away when they fail...
This can be achieved by designing products that
can be repaired and maintained.

5.3 Disposability - Some products are designed
to be disposable. k
5.4 Product Lifecycle -

™=

TRELS ARE CUT COWN %
SUSTWNABLE FORESTS AND AOLLS OF PAPERS ARE LSED TO
COMBINED WITH RECYOLED \ PRODUCE THE DALY

NOWSPWCRS
AND MAGAZINES THAT WE ALL NEAD.

LIFE DUAT s TAT D0

4, Scales of Production
One off: when you make a unique item
Batch: when you make a few/set amount
Mass: when you make thousands

9 Continuous: open ended production

7: KEY WORD FOCUS
You should be able to explain the meaning of
each of these words by the end of this rotation.

CNC Computer Numerical Control

EPOS Electronic Point Of Sale (Barcodes)

Page’
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Social, Moral, Environmental and Sustainability issues.

Social

We are all part of one world and we do rely upon each other. Any thing we can do to
promote positive work or play is good however as designers we also have a
responsibility to make sure designs don't have a negative impact. Products can really
influence us as people and as designers we need to be positive role models
encouraging 'Social Harmony'.

Moral

As a designer you have a moral responsibility to do the right thing. Moral issues is
about being fair and honest. You should be thinking about what is 'right' for the
consumer. For example a moral designer should be considering the safety of potential
users as a high priority as well as making sure they don't feel uncomfortable or come to
any harm. People with strong morals are honest and decent and will put other people
before their own personal gain.

Environmental & Sustainability

When developing designs you need to think about environment and sustainability
issues as we only have one planet and need to make sure we look after it.

-The materials will have an impact of some kind

-using materials that can be easily recycled is a good start

- locally sourced uses less fuel

- open cast mines and deforestation have negative impact

Energy consumption is also important. A lot of energy comes from fossil fuels so needs
to be reduced. An efficient making process uses less electricity and relies less on fossil
fuels.

(Fairtrade

Fair trade is an institutional arrangement
designed to help producers in developing
countries achieve better trading conditions.
Members of the fair trade movement
advocate the payment of higher prices to
exporters, as well as improved social and
environmental standards

-

FAIRTRADE

Ecological Footprint

The ecological footprint measures human demand on nature. itis

a measure of human’s impact on Earth’s ecosystem and reveals the
dependence of the human economy on natural capital..
The Ecological Footprint

MEASURES

how fast we consume resources and generate waste

Carbon Footprint

Sustainable living is a lifestyle that attempts to reduce an
individual's or society's use of the Earth's natural resources and
personal resources. Practitioners of sustainable living often
attempt to reduce their carbon footprint by altering methods of
transportation, energy consumption, and diet.

electricity
transport

offsets

emissions

P : ! . ; gas waste

fuel /
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1. Sustalnablility

Avoidance of the depletion of natural resources.
Finite Resources e.g. Ore and Oil

Materials which are in limited supply. Use of
these should be avoided where possible or only
used in small amounts.

Non Finite Resources e.g. Trees and Plants
Materials in abundant supply and are unlikely to
ever run out or ones that can be grown again.

The impact of the use of resources can be

measured by the following:

* CO:2emissions

* Transportation method and distance travelled

* Impact on the environment through mining or
harvesting

* Availability or scarcity

* Maintenance or repair costs

* Ethical and moral issues

Gmw

\ 7

\__ generated

Life cycle assessment (LCA) to assess the impact of a
product during the different stages of its life. The 5 main

stages are: % 'I
- “t rencurcen I \

=i} .
k
=N

Consideration to waste disposal has an impact on the

environment and a product life cycle.

Businesses are charged for waste disposal, reducing

waste disposal will save money.

The effects of careful consideration of waste disposal

within a business are:

* Less raw materials required

* Reusing waste materials/components within a
company

» Sale of recyclable waste

* Energy to heat and power a business could be

ﬁ. Environment

Technologies that have a positive impact:

* Renewable materials from managed resources

* Use of renewable energy

* Using recyclable materials

* Consideration to the 6r's

* Designing products with low power consumption

* Designing products with fewer components and reduced weight
* Designing products that are upgradable extending their life
Creating products that are sourced, produced and sold locally

LY

Technologies that have a negative impact:

* Use of finite/non-recycled materials

* Use of components that are hard to repair
* Use of fossil fuels for power

* Products with high power consumption

* Products that have built in planned obsolescencd
* Components that are shipped globally

3. Key Terms
Continuous Improvement
Kaizen, also known as continuous
improvement, is a long-term approach
to work that seeks to achieve small,
incremental changes in processes in
order to improve efficiency and
quality. It is best known for being used
in lean manufacturing.
Efficient Working
Just in time (JIT) and lean
manufacturing are examples of
how businesses reduce costs.
Other examples are members of
staff doing ‘energy walks’ to turn
off lights etc. to reduce costs and
CO2 emissions.
Pollution
Business’s should aim to reduce
pollution by conducting an LCA.
Global Warming
The release of CO2, methane (CH4)
and nitrous oxide (N20) into the
environment resulting in the rise of
average temperatures of the earth’s
atmosphere and oceans.

rbon in
Image from AQA
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Sustainability

The 6 R’s - -
The 6 Rs are an important checklist. They are used by designers to B
reduce the environmental impact of products. They can also be used i

to evaluate the environmental impact of other products. -t

The hierarchy of sustainability places the strategies that are best for
the planet about those that have a greater negative impact on the
environment.

o~ Fecye

.,
7

1. Refuse

The first stage in the process is to ask whether the proposed product, part, purchase or even
Journey is required at all. Asking the question ‘Is it really necessary?’ can play a major role in
reducing the demand on materials. Simply not using something saves 100% of what you have
chosen not to use. Example include:

* Using your own carrier bag rather than purchasing a new one.

*  Walking or cycling to school instead of being driven.

*  Not using products such as some pesticides that are known to be harmful to the

environment.
_* Not eating (or using) products that are over-farmed, over-fished or on the endangered list.
2. Rethink

Consumers have a growing number of choices to make about where and on what they spend
their income. Greener and more sustainable options are not always the cheapest or the best,
but making informed decision and rethinking ones spending power can play a huge part in
conserving resources.

Deciding on the design of a product, e.g. the materials being used in its production, will directly
affect its sustainability. The types of questions designers need to ask are:

* Are the materials locally sourced?

* Are they sustainably produced?

* s it essential to use this material, of which there is a finite supply?

By rethinking how the product is likely to be made, the product can often be redesigned in a
more responsible way.

—

3. Reduce

Reduction is often the result of having re-thought a design or action. Materials and energy are

saved due to efficient manufacturing practices and the use of clever design, incorporating

sustainable materials.

* Modern materials that are lighter and stronger than traditional ones have contributed to
the miniaturisation of products, saving material and energy in manufacture and use.

* Reducing the complexity or number of parts a product uses and reducing the number of
different materials in a product makes recycling easier.

* In factories, schools and hotels, fitting motion sensitive lighting and smart heating systems
can significantly reduce energy usage.

* Many large companies employ staff to conduct ‘energy walks’ to turn off unused

4. Reuse

Reusing products multiple times for the same purpose is also known as primary recycling. Reusing a
product in a different way from the one it was designed for is known as secondary recycling.

The classic glass milk bottle is reused many times before it reaches the end of its useful life, as which point
it is recycled. A plastic milk bottle, however, is intended to be used only one, although it can have many
different subsequent uses.

Donating to and buying from charity shops extends the life of products and in recent years there has been

a resurgence of in products having second lives, thanks to weh<itac such as eBay, Freecycle or Gum tree.
fr?@cyclc (Bumires)

It is also becoming popular for furniture and other househola items to be upcycled with a coat of paint
and some minor repairs or adaptations, extending their useful life by many years.

5. Repair

Being able to repair a product when it is broken or worn is a way of extending its life and delaying the
purchase of a new one. Repairing is a positive option over replacement as it means that only some parts
of the product are replaced. This creates jobs for skilled people who conduct repairs and stimulates a
spare parts market.

Unfortunately, repairing products has become harder over years. Growing number of products are not
design to be repaired. There are a number of reasons why items may be designed this way, but it is
usually because they are cheaper to replace than repair. Some products, especially modern electronic
products, are designed to last only a few years as technology dates quickly and older products will be
superseded by newer, faster, more efficient models. This is called planned obsolescence.

6. Recycle

Tertiary recycling, although a very important stage, is lower down the hierarchy of preferred options
because most materials that are recycled this way tend to be of lower quality than the original material. It
takes a lot of energy to recycle materials.

This form of recycling requires the reprocessing of the material and in many cases involves chemicals
and/or heat to recover the recycled materials. In an ideal world, tertiary recycling would remove all
recyclable materials from our household waste so that only biodegradable materials would be left. Only
very few parts of the world are set up to cope with this level of processing.

7. Sustainabllity

Our planet has to provide all of our basic human needs, such as food, shelter and warmth.

Designers now have a much better understanding of which materials are sustainable and which are not.
The general principle is that resources fall into two categories:

Finite resources — are ones which are in limited supply or cannot be reproduced.

Non-finite resources — are ones which are in abundant supply and are unlikely to be exhausted.

appliances and lights and to ensure windows and doors are shut to conserve heat.

8. Recyclable materials

Once all useful and recyclable materials are removed, the majority of the remaining waste is organic
matter and can be processed in one of two ways; ‘Recover’ or ‘Rot’. Food waste and garden waste can be
processed at a high temperature and turned into compost. The waste can also be buried in landfill sites
where the resulting methane gas from the rotting matter is collected and burned and used to generate
heat or electricity in the same way.
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GCSE Design & Technology
Energy Generation & Energy Storage

-
1. Energy Generation
Power can be generated from renewable and non-
renewable sources. Non-renewable power is generated
from fossil fuels.

Most electricity is created by rotating a turbine which turns
a generator. Fossil fuels are burnt to create heat which
superheats the water. The steam rotates the turbine which
is linked to the generator to supply the electricity.

et e
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1.1 Fossil Fuels — Most electricity in the UK comes from
burning Fossil Fuels such as Coal, Gas and Oil. Fossil fuels
are finite resources and cannot be replaced as they run
out. Burning fossil fuels creates carbon dioxide and is not
environmentally friendly and contributes to global
warming.

1.2 Fracking — Shale gas is trapped within the earths crust.
Fracking is the process which removes it so it can then be
burnt to create electricity. It involves drilling the earths
crust and sending high pressure water, sand and chemical
mixtures into the rock to release the gas.

3. Nuclear Power
Nuclear power is highly controversial. The process
harnesses a nuclear reaction to create to create heat to
power the turbines.

(. )

2. Renewable Energy

Energy that comes from the planets non-finite
resources is renewable. It includes

4. Energy Storage
Most mechanical power is stored by using tension or
compression. Coiled springs used in clocks, watches
and wind up toys store physical energy from the
winding process which is then released slowly through
cogs, gears and other mechanisms.

4.1 Pneumatics — A form of compression is used to
store gas or air under pressure. They are commonly
used to controlling production lines. They are accurate,
efficient and low maintenance.

4.2 Hydraulics — Very similar to Pneumatics but uses a
liquid, most commonly Oil. Extremely powerful and
using in manufacturing industrial applications.

Both systems will use a compressor which pump the air
or liquid into a storage tank to hold it until it is needed.

4.3 Kinetic Energy — any object in motion has kinetic
energy. Objects not in motion store potential energy
which is converted to kinetic energy when a force is
applied to the object such as gravity.

4.4 Batteries — Electrical power can be stored in
batteries. Battery technology has vastly improved
alongside the power consumption of modern electronic
devices helping save valuable finite resources.

Alkaline batteries are more efficient than traditional
acid based batteries and hold their charge well.

Rechargeable batteries are capable of being charge d
and discharged thousands of times reducing the
resources needed. The time it takes for rechargeable
batteries to reach full charge has also improved in
recent years making their use much more convenient.

4.5 Disposal of Batteries — Batteries must be disposed
of correctly as they contain toxic electro chemicals. If
placed in the normal bin and they end up in land fill
sites, it will degrade over time and release harmful
chemicals and metals into the soil and water.

v,
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GCSE Design & Technology

Energy Types
P Y
Energy Types
1. Fossil Fuels — Non-renewable energy
Ehctricty generator
BT
Imm
. W
L -

< . SR

Chemical energy Pyton
fwrnad into heat

In a thermal power station fuel such as coal, oil or gas is burned in
a furnace to produce heat - chemical to heat energy.

@ this heat is used to change water into steam in the boiler.
. the steam drives the turbine - heat to kinetic energy

N this drives the generator to produce electricity - kinetic to
electrical energy.

Some experts believe that fossil fuels will run out in our lifetime.

Energy Types 2. Biomass Energy —Renewable Energy

Biomass is an industry term for getting energy by burning wood, and
other organic matter. Burning biomass releases carbon emissions, but
has been classed as a renewable energy source in the EU and UN legal

(Energy Types

3. Nuclear Energy — Renewable

energy

)/ Energy Types

8.Batteries

common type of domestic

The main nuclear fuels

are uranium and plutonium. In a nuclear

power station nuclear fuel undergoes a

controlled chain reaction in the reactor to

produce heat - nuclear to heat energy.

* heat is used to change water into
steam in the boiler.

* the steam drives the turbine (heat to
kinetic energy)

* this drives the generator to produce

g N charge.
electricity - kinetic to electrical energy.

urameworks, because plant stocks can be replaced with new growth.)

Alkaline batteries are the most

batteries, they are disposable but
contain chemicals that are bad for
the environment. Fortunately
more and more battery recycling
banks are appearing now where
most of the battery can be reused.
Rechargeable batteries are better
for the environment and more
economical in the long run (High
initial purchase price). Their
lifespan decreases with every

Gﬂﬁl‘ﬂ Types
4. Wind Energy — Renewable Energy

2 A0 A
el
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3 Vs bestn Skt AC slecweny goes
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6. Tidal Energy — Renewable Energy

7. Hydroelectricity — Renewable Energy

* Ina hydroelectric power
station water is stored
behind a dam in a reservoir.
This water has gravitational

potential energy.

electrical energy).

* The water runs down pipes
(potential to kinetic energy)
to turn the turbine

* The turbine is connected to
a generator to produce
electricity (kinetic to

5
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GCSE Design & Technology
Electronic Components

4 3
1. Systems 2. laput Compenents G Outpue Componsnts )
A system is parts or components working
together to control tasks or activities.
Diagram ° _ Characteristics
A simple flowchart that lays out input, fotching & veriaty of Souline 608 | sty Gostet
process, output — an automatic door o o o propeg-ir-/ M Ly
—O/O— positions until switched
dapanding on again
the task
@@ |
PTM) switch shapes, colours the switch are intercoms,
when the switch
nl nd cl | - - is prossod |
. -0 O— (momentary); it L. %
Has no feedback and is unable to make e s o cmevge [wwecw |
a decision — a room heater- has to be Pshiobesk  |Thoya 7 | The legs are only | Alarm systems, e b el o ]
5 (PTB) switch identical 1 disconnected congrol power due to the heat | foodights and
manually switched off il R v o ” decornected systems pows T dn'o bebest | ooderts
you may need is prossod Oux long-asting but
—Q].Q— 1o check the {momentary); & is s :;"“’"'9' e
connect maly closed, compact 0o - Y
- _— — ! :pohnty . - \s:;’nusnc mm oooro?w
N B || e e — o S
resstor (LDA) sensitive ncreases in solar garden s2es and Sounds electromagnetc | electronics
panel often in the dark and Ights, security parts, has Qe
19 plastic shroud, decreases in the | and child night cor polay
Closed loop two wires for Ight, no polarity | lights, low- Speaker Speaker core Fllrngs ol | Headohores,
P . mounting 1o fight meter for | shaped nto sound avaledie, | musc systens,
Able to make a decision using feedback draRt pded watpabinat magrenc ot ot iyl aacons, mdce
- i - Tharmistor Small coloured Reeistance Tharmostats 2 wicde variety of {wuttage), varisty
central. heatmg. system i T o Swi een. v
automatically switch off when the for mounting to achangoin | heating systems, { Pyt
. . o creut temperature, no | fridges and -
desired temperature is reached polarity froazers, aigtal
- thermometers
Prassure switch Comein al Detects pressure | Burglar alarm
differont shapes, Q 4rom being systems, video
szes end pressed, can game ficor mats,
e ¥ D_} colours. periorm onvol | sensing fuid
? 188k Of detect | pressure in pipes
gradual pressure
» peing appled
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GCSE Design & Technology
Microcontrollers

i. Processaes

Components that process electronic signals
and enable output devices to perform tasks.
This is controlled by an integrated circuit (IC)

e.g. A microcontroller ’

ﬁmmww

r  Analogue — Continuous signal
ves]  with an infinite range e.g.
thermistor

Time
Analogue
3

VWT Digital — Either on or off -

Ois off 1is on

High

> x

\‘” e

Image from AQA/
3. Countaers

Counters - Keep count of how many times
something occurs, output information to a seven

segment display. g

» — —_—
[ p— ..- | S—
3G
° —a— >

e

Q_.

Microcontrollers — How a microcontroller
would control a bike light.

P E
e Tal reses
T eguence
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4. Programming
Micro controllers also called Peripheral interface controllers (PICs) can be programmed to
perform differently by a computer.
Timer
Devices used to perform specific tasks. 2 Astable - fluctuates between on and off -
types monostable and astable. oscillating output e.g. Seatbelt alarm in a
Monostable — output turned on for a set car
period of time e.g. Automatic doors
San v Start:
Decinion: Has fw moson sereor (FIR) CoNvected 10 Bhe ro been sctharm Oochon: b b e hah Sund St i et sy
¥ NO, cortinum 1o watt for e PYA 55 be riggered by movement -~ ¥ YER, boup beck &6 o shurt of o pragan.
¥ YES, wih e Y 1 ND_ cortirus wih e Drograes ssguence.
Outpust: The monor tums 00 8nd 0pers The 300 Outyin T b i o
Pvoosss: Dely for § secomdi the motr I on long enough 10 0pes e ool Process: Doty b 05 s0conds. 1he Deaner siwys or Surrg this ma
=l e pecpls Brough Ouput: The trzzes tume oft
Output: The Moior s On agmn i swearse end T doors stomadcally od Process Outiry or 0.5 se0onds 110 Duler sty off drng this Tme,
The SHTult ops Back % 1he 10p Saniing The net trgger of the PR The Crout Doge Back 1o e op 10 Check # the Srver S0 has SANDAT Lriastened
\ Image from AQA )
G. Programming 2 \

Program for the microcontroller to
make LED’s flash in sequence

Sun

Ducisbon Has e QNG 5e0uenCo stan satch
COnvected 15 T IRt Deen &t wted?

¥ NO, contnue 1o wik for 1he swich 1o be Yigoeed
by e e

YRS cortieun

Ostpet anc process: The frst LID cornecied to
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GCSE Design & Technology
Mechanical Devises

fi: Mechanical Devices - Motion \
There are four types of motion:

Linear Motion is
movement in one direction
along a straight line.

Oscillating Motion
This motion is similar to
reciprocating motion, but
the constant movement is
from side to side along a
curved path.

v
Rotary Motion
Examples of circular motion
include a ball tied to a rope G
and being swung round in a
circle

Reciprocating

Motion, this is repetitive
up-and-down or back-and-
forth linear motion

(2: Mechanical Devices — Levers \
There are three classes of levers.

Class One
A class one lever
has its input on one

side of the fulcrum
and its output on
the other. Fucum

Class Two
A class two lever
has its input at one

end of the lever, its cx‘u
output in the e
middle and fulcrum

at the other end.

Class Three

A class three lever

has its output at
one end of the /
lever, its fulcrum at Felcm

the other with its
input in the middle.

3: Mechanical Devices — Linkages

/?h
&
;\J

&: How to work out a levers distance of travel

"L‘;g;r:: Output arm:
\ / 100 mm

long

Input
distance d(?t:tput
200 S istance
) 25 mm
W 400 mm L 100 h
mm

Output + Input x Input distance = Output distance
100 + 400 x 100 = 25 mm

\_ _

5: How to work out the Mechanical
Advantage

Or use the following
formula:

MA = Load = 300N = 3
Effort 100N 1

This is written as 3:1 or
just MA of 3

Reverse | The reverse motion linkage
motion changes the direction of the
input motion so that the output
linkage travels in the opposite direction. S
, <
If the input is pulled the output Pe—
pushes and vice versa. It uses a >
central bar held in position with o
afixed pivot (fulcrum) that
forces the change in direction
and two moving pivots which are
connected to the input and
output bars.
Parallel The push/pull linkage maintains
motion | the direction of the input motion e
so that the output travels in the
or 3 E
same direction. If the input is
push/ pulled the output is pulled and
pull s0 on. It uses three linking bars,
linkage four moving pivots and two fixed
pivots.
Bell The bell crank linkage changes
crank the direction of the input motion -y
through 90 degrees. It can be P
linkage used to change horizontal s
motion into vertical motion or
vice versa. It uses a fixed pivot Soming Pt
and two moving pivots.
Crank The crank and slider linkage
and changes rotary motion into
slider reciprocating motion or vice
versa. It uses a crank which is
held with a fixed pivot. A
connecting rod uses two moving
pivots to push and pull a slider
along a set path.
Treadle | The treadle linkage changes
linkage rotary motion into oscillating

motion or vice versa. It uses a
crank which is held with a fixed
pivot. A connecting rod uses two
moving pivots and a further
fixed pivot to create a
windscreen wiper motion.
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ing ideas.

developi

AO1 - CONTEXTUAL UNDERSTANDING

.
.

KS4

MIND MAPPING

A graphical way torepresent
ideas around your theme. Use
of keywords and branches to

show breadth of initial ideas.

ANALYSING ARTWORK: -

VISUAL
MOODBOARD

A collection of imagery and
collaged ideas to present a
visualunderstanding of your
theme. Keep to astyle of
scheme of colour.

WORK-LIFE BALANCE

ARTIST RESEARCH

Show your understanding of
contemporary and historical

artists and artistic movements

by analysing their work. To

drawin theirstyle and discuss
your intention.

Always remember...

DON'T LIMIT YOURSELF

Evenif it doesn’tlink to
your starting point, it may
relate to your theme.

Add annotations and
sketches to show/explain
your thought process.

A SUP Rv\sﬁa

ﬁ,‘Z:@
F

=~ wnﬁ“ ? /n\\‘

PRIMARY SOURCES

When researching a
theme, collectimages,

cuttings etc.

Make sure all images are
relevant.

photos, samples, magazine

PRESENTATION

Pull your boards together
by being consistent.

Stick to a particularstyle
and/or colour scheme.

Use DAFONT for titles if
unsure.

CONTENT:

What is the work about?

Is the work realistic/abstract?
Hasit been exaggerated?

Are thererecurring features?2
Whatis the theme of the work?
What message is communicated?

FORM:

«  What colour does the artistuse?
What shapes does the artistuse?
What mark-making techniques?
How big is the work —why?

Does the artist have astyle?

PROCESS:

*  How has the work been made?
«  What media/material has the artist
used?

MOOD:

»  How doesthe work make you feel2

«  Does the colour, texture, form or
composition effect your mood?

+ Does the work reminisce about a
dream in any way?

8  The Big Question...

NEXT STEPS:

«  Whatisyour intention?2

«  How wil you use this style?

«  What features wil you try to
replicate?

« How are you going touse this
knowledge to further develop your
work?

« How are you going to develop your
own

* imagery in response to the artist
and/or movement?

Activity: Take (10-15) of your ownimages linked to your theme (primary research) from observation. You will then draw from these images and develop further by
exploring different media in the style of your chosen artist and/or movement.
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Refine work by experimenting with ideas.

AO2 - REFINE:

.
.

KS4

Key Vocabulary... Picture This...

MEDIA

The substance an artistuses fo
create art e.g. collage,
coloured pencils, paint etc.

MATERIALS

The same idea as media but
can also refer to what the work
is created one.g. canvas,
paperor clay.

TECHNQUES

The methodused to complete
the artwork, can be generic
such as painting or more
focussed such as blending.

PROCESSES

COLOURED PENCILS

Always remember...

The methodused to create
artwork that usually follows a
range of stepsrather tharixe
one skill.

«  Apply using asoft
circular motion
Start with the lightest
colours and build up
Avoid applying a thick
line of fone

WATERCOLOUR

+  Mix your own variations
of paintinstead of
straight from palette
Avoidtoo much water
as paperwil bobble

ACRYLIC PAINT

Mix your own paint
instead of out of fub

+ Addcolour towhite to
lighten rather than
white to colour.

COLLAGE

+  Rip orcut (notboth)
+  Overlap to avoid gaps
Use a variety of fones

OIL PASTELS

+  Startwithlightest first

*  Presson heawvyfor
strong coverage
Blend by overapping

rOoO0OnNn
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(Tertiary)

RED VIOLET

Ter tilary)

VIOLET

BLUE

(Primary)

BLUE GREEN
(Tertiary

. Complementary

RED

Primary)

GREEN

"\'\.u_.-rl_.i,”"{'u

7
w
/Y

[

RED ORANGE

(Tertiary

ORANGE

(Secondary)

YELLOW
ORANGE
(Tertiary)

YELLOW

Primary)

YELLOW GREEN
(Tertiary

=2I>»E

Deeper Learning...

COLOUR THEORY
PRIMARY = RED, YELLOW, BLUE
SECONDARY =ORANGE, GREEN, PURPLE

TERIARY = SECONDARY + PRIMARY
SHADE = ADD BLACK

TINT = ADD WHITE

HARMONIOUS = COLOURS NEXTTO EACH
OTHER ON COLOUR WHEEL

COMPLEMENTARY = OPPOSITE ON COLOUR
WHEEL

MONOCHROMATIC = ONE COLOUR AND
VALUES (LIGHTTO DARK)

HUE = PIGMENT OF ONE COLOUR

WARM = RED, ORNAGE, YELLOW

COOL = BLUE GREEN, PURPLE

The Big Question...

NEXT STEPS:

Have you chosen animage by
refining and selecting through
your images/drawings?

Have you developed this image
further by using a variety of
media, materials, fechniques
and processes®

Have you pushed this further by
applying another method?

Activity: Take your favourite drawings and photocopy original before altering. Link to artist style and use a variety of tfechniques and processes to push further. Change
scale and material to add depth to your artwork.
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AO3 - RECORD

KS4

Key Vocabulary...

OBSERVATIONAL Drawing from looking at an
DRAWING image or object.
PRIMARY Drawing from an object
OBSERVATION thatis directly in front of
you.
SECONDARY Drawing from animage.
OBSERVATION
PHOTOGRAPHS Using a camera torecord
images — thisis classed as
primary observation.
SKETCHES Basic sketches and doodles
can act as a starting point
to aid in developinga

Always remember...

CROSS-HATCHING

Cross-hatching uses fine
parallellines drawn closely
togetherto create the
illusion of shade or texture
in a drawing.

Itis the drawing of two
layers of hatching at right-
angles to create amesh-
like pattern.

HATCHING

For pencil or pen-and-ink
drawing. Hatchingis one
of the quickestways tofil
in the dark areas.

By drawing a lot of fine
lines that are parallel, the
area as awhole is
perceived as being darker.

STIPPLING

The art or process of
drawing, painting, or
engraving using numerous
small dots or specks.

SCRIBBLE LINES

PATTERN

STAGES OF DRAWING
BASIC SHAPES > ACCURATE SHAPES > DETAL > TONE

Deeper Learning...

STEP 1: DESCRIBE

«  Whatis this animage of2
«  Whathaveyou done?
«  Whatwas the purpose of the piece?2

STEP 2: EXPLAIN

+  How wasthe work made?
«  How did you produce the effect?
« How did you decide on composition?2

STEP 3: REFLECT

Why did you use this specific method?2
Why are some areas better than others?
What might you do differently next time?2
Why might you do it differently2

How will your develop in response?

The Big Question...

NEXT STEPS: -

* Produce arange of tones by
varying the pressure and
layering

» Consider using softer pencils
for darker shades

+ Apply tone using a soft
circular motion to create a
smooth coverage. Filling all
the white gaps and avoid
shading in different directions

* Add detail/interest by
applying tone using mark-
making techniques

* Mark-making can be
produced by making your
own tools/paintbrushes

planned.

Activity: Try to annotate or evaluate whenever you have anidea or a change in direction. Write about a technique that was successful or if something didn't go as
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ful response.

ing a meaning

creat

AO4 - PERSONAL

KS4

Key Vocabulary... Picture This...

ROUGH IDEA

Basic sketches of a final
idea.

Label to ensure clarity.

VISUAL OR MAQUETTE

Animage or model created
from selected materials
(usually smaller in scale
thanintended.

FINAL PIECE

Animage or sculpture that
is the end product of your
project/journey.

Visualrepresentation of
pulling all prep work
togetherto showcase yg
ideasand journey. £

Always remember...

RULE OF THIRDS

The rule of thirdsis a
guideline which appliesto
the process of composing
visualimages.

The horizon sits at the
horizontal line dividing the
lower third of the photo
from the upper two-thirds.

LEADING LINES

Leading lines refers to a
composition technique
whereby the viewer's eye is
attractedtolines thatlead
directly to the principle
subjectin theimage.

BALANCED ELEMENTS

When different parts of a
photo command your
attention equally, perfect
balanceis achieved.

CROP

Cropping is the removal of
unwanted outer areas
from a photograph or
illustratedimage.

COMPOSITIONAL LAYOUTS:

e
- Ii “."l

RULE OF THRDS

Deeper Learning...

FORMAL ELEMENTS OF ART: -

COLOUR: Primary colours cannot be mixed
by using any other colours butin theory, all
other colours are made from them.

Red + Yellow = Orange
Blue + Yellow = Green
Red + Blue = Purple

Orange, Green and Purple are secondary
colours. All other colours (primary +
secondary = tertiary).

Colour schemes could be adhered to fit
with theme.

SHAPE: An area closed by line. Geometric
or basic.

FORM: Form is a 3D shape which can be
sculpted using clay, wire or Modroc.

In2D art, tone and perspective canbe
used to create anillusion of 3-dimensions
using light and dark to create shadows.

TEXTURE: Surface quality. The way it feels
physically or the way itis made to feel.

TONE: Light to dark to create depth. This
could be a shade or how dark or light a
colour appears. Tones are created by the
way thelight falls onto a 3D object.

PATTERN: Created byrepeatinglines,
shapes, tones or colour. The design used to
create a patternis oftenreferred toas a
motif. Motifs can be simple shapes or
complex arrangements.

Patternscan be man-made, like a fabric or
wallpaper design, or natural, such as the
markings on animal fur.

LINE: Line can be used to portray different
qualities such as: contours, feelings or
expressions and movements.

Activity: Create a draft copy of your final design ideas. Make sure to label and photocopy sections if using a combination of a number of pieces.
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SCIENCE OF COOKING FOOD

Raising Agents

. Whisking: whisking eggs to
trap air and creating a
foam, used for meringues
and soufflés

. Sieving: Sieving will trap
air, used for cakes and
bread

. Rubbing in: Rubbing fat in
to flour with add some air,
used for cakes and biscuits

. Creaming: Mixing fat and
sugar together traps air,
used for cakes

. Laminating: Layers of fat in
pastry will trap air when
cooked, used for puff and

flaky pastry

WHY DO WE COOK FOOD?

. To kill bacteria

. To make it easier to eat and
digestible

. To improve the sensory
attributes

. Adds variety

. To enable ingredients to
perform their function

Acids & alkalis

Radiation

Acids: can soften connective tis-
sue such as lemon juice or vinegar
in a marinade. Can also be used to
preserve foods by pickling.

The transfer of heat by
electromagnetic radiation.
Example: Grilling or BBQ

h

Fat: Fat melts and becomes soft, this is called plasticity. Fats can also
brown adding flavour and colour.

Alkalis: Bicarbonate of soda is
used as a raising agent. Mixed with
cream of tartar creates ‘Baking
powder’

Effect of heat on foods

Protein: proteins denature (unravel) and coagulate.
When protein and carbohydrate are heated the maillard
effect occurs which turns meat products brown

Carbohydrate—starch: When starch and liquid are heated gelatinisation
occurs which makes the starch swell, used to thicken sauces. When direct
heat is applied to starch Dextrinization occurs turning the food brown and
crisp.

Carbohydrate— sugar: When heat is applied to sugar caramelisation occurs
which turns the sugar brown and in some cases will go crisp

Oxygen and Food

Fruit and vegetables when contact with oxygen is made, this
is called enzymic browning

Meat that comes in to contact with oxygen will turn brown, thisis a
discolouration of the myoglobin

Fats and olls that come in to contact with oxygen will go rancid where it
develops an unpleasant odour and flavour.

Conduction

F 4

e

The transfer of heat by direct
contact. Example: Frying

The transfer of heat via mass
movement of particles.
Example: Boiling, Poaching

Cooking Methods

Roasting Cooked in the dry heat of the oven
and basted with hot fat

Baking Cooked in the dry heat of the oven

Grilling Cooked by the radiant heat of a hot
grill

Frying Methods

Stir Fry Cooked quickly over intense heat in
a wok with little oll

Shallow Frying Cooked in a shallow pan with hot fat

Deep Frying Cooked submerged in very hot oil

Muaoist cooking Methods

Boiling Cooked quickly in boiling water

Poaching Cooked in gentle simmering water

Stewing Cooked gentle and slow in liquid

EMULSION: a stable mixture of liquids that will not freely
combine that has an agent such as egg yolk added to
create an emulsion. Example Mayonnaise

=2
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Human factors affecting uneven development

Aid ‘ Trade (€3]

What is development? Variations in the level of development

Development is an improvement in living standards through Lics Poorest countries in the world. GNI
better use of resources. per capita is low and most citizens . Aid can help some . Countries that expoﬁ
. N ) ) have a low standard of living. countries develop key more than they import
Economic Thisis progress in economic growth through projects for have a trade surplus.
levels of industrialisation and use of technology. NEEs These countries are getting richer A e e T This can improve the
as their economy is progressing . Aid can improve services national economy.
Social This is an improvement in people’s standard of from the primary industry to the such as schools, . Having good trade
living. For example, clean water and electricity. secondary industry. Greater hospitals and roads. relationships.
exports leads to better wages. . Too much reliance on . Trading goods and
Environmental This involves advances in the management and aid might stop other services is more

protection of the environment. HiCs These countries are wealthy with a
high GNI per capita and standards

A o e established. materials.
Measuring development of living. These countries can e R/ m
spend money on services. Bt Yy Education Health v
These are used to compare and understand a country’s level of

development. $ Causes of uneven development E Education creates a . Lack of clean water and

trade links becoming profitable than raw

skilled workforce poor healthcare means a
Economic indictors examples .. Development is globally uneven with most HICs located in Europe, North America meaning more goods large number of people
1 h . fth lati i and Oceania. Most NEEs are in Asia and South America, whilst most LICs are in and services are suffer from diseases.
Employment type T < Froportlon oitie pOplf e e Africa. Remember, development can also vary within countries too. produced. . People whoare ill
() [ELTEL f’em"dﬁ'w’ tertiary and . Educated people earn cannot work so there is
quaternary industries. Geogrq phy- qur 1 1 Knowledge more money, meaning little contribution to the
. L . they also pay more economy.
Gross Domestic This is the total value of goods and services H - H H N
e roduced s count persereon peve. Organiser —The Changing Economic taxes. This money can More money on
W Id help develop the healthcare means less
. . . or country in the future. spent on development.
Gross National An average of gross national income per
Income per capita person, per year in US dollars. . Physical factors affecting uneven development Politics m History
° 2 2 9 : <
Social indicators examples “'i r Natural Resources '5‘ Natural Hazards 5 - Corruptlion inlocal and . Eolonial{;sm :‘IEIS hbelped
. . . : national governments. urope develop, but
Infant mortality The number of children who die before . ::;_EI soll.lrce;sud; E:S?'I'f | . :'Sk ?,Etefaonlc hlazafds' terial . The stability of the slowed down
reaching 1 per 1000 babies born. |n.era.s.an me. alstoriuet. Enetits irom volcanic materia government can effect development in many
. Availability for timber. and floodwater. the country’s ability to S U —— -
Literacy rate The percentage of population over the age : Access to safe water. * Frequent hazards undermines trade. . Countries that went
of 15 who can read and write. o redevelopment. . Ability of the country to through industrialisation
Life expectancy The average lifespan of someone born in Climate Yoo Location/Terrain 'L :::;ss::z::!rwcesand Zgz:fpaﬁf::t:::e now
that try. ’ ’
atcountry . Reliability of rainfall to benefit . Landlocked countries may find
Mixed indicators farming. trade difficulties. Consequences of Uneven Development
. Extreme climates limitindustry . Mountainous terrain makes 7 7 7
Human Development A number that uses life expectancy, and affects health. farming difficult. e d'll’ferentco_llntnes. 'I1:||s .
Index (HDI) education level and income per person. . Climate can attract tourists. . Scenery attracts tourists. CLE=CE development_has tionsequencesfor countries, especially in
wealth, health and migration.
The Demographic Transifion Model Wealth People in more developed countries have higher
5 SO STAGE 1 STAGE 2 STAGE 3 STAGE 4 STAGES incomes than less developed countries.
The demographic -~ -
transition model (DTM) BR Low Rapidly slowly Better healthcare means that people in more
shows population change High DR Declining falling DR Low DR Falling DR Health developed countries live longer than those in less
over time. It studies how High BR DR Low BR Low BR Low BR developed countries.
birth rate and death rate Steady . . Zero .
affect the total population e Very High High e If nearby countries have higher levels of
—_— Migration development or are secure, people will move to
of a country. - . g p , peop
e.g. Tribes e.g. Kenya e.g. India e.g. UK e.g.Japan sx oy e e s s ) 1 Bﬂg% 45



Reducing the Global Development Gap
O,

Microfinance Loans
This involves people in LICs
receiving smalls loans from
traditional banks.
+ Loans enable people to begin
their own businesses
- Its not clear they can reduce

poverty at a large scale.

This is given by one country to
another as money or resources.
+ Improve literacy rates, building
dams, improving agriculture.

- Can be wasted by corrupt
governments or they can
become too reliant on aid.

Fair trade
This is a movement where
farmers get a fair price for the
goods produced.
+ Paid fairly so they can develop
schools & health centres.
-Only a tiny proportion of the
extra money reaches producers.

CS: Reducing the Development Gap In Jamaica

Foreign-direct investment S
This is when one country buys
property or infrastructure in
another country.

+ Leads to better access to
finance, technology & expertise.
- Investment can come with
strings attached that country’s
will need to comply with.

Debt Relief

O]

cancelled orinterest rates are
lowered.

+ Means more money can be
spent on development.

- Locals might not always geta
say. Some aid can be tied under
condition from donor country.

Jamaica is a LIC island nation part of the Caribbean. Location
makes Jamaica an attractive place for visitors to explore the
tropical blue seas, skies and palm filled sandy beaches

-Jobs from tourism have meant more money has been spentin
shops and other businesses.

-Government has invested in infrastructure to support tourism.
-New sewage treatment plants have reduced pollution.

-In 2015, 2.12 million visited.

-Tourism contributes 27% of GDP and will increase to 38% by 2025.
-130,000jobs rely on tourism.

-Global recession 2008 caused a decline in tourism. Now tourism is
beginning to recover.

.’
Technology ’g.:’
Includes tools, machines and XA

affordable equipment that
improve quality of life.

+ Renewable energy is less
expensive and polluting.

- Requires initial investment and
skills in operating technology

Tourists do not always spend much money outside their resorts.
Infrastructure improvements have not spread to the whole island.
Many people in Jamaica still live in poor quality housing and lack basic services such as healthcare.

To what extent is the HDI the most effective measure of development?

Use a range of development indicators to explain the difference between standard of living and quality of life.

Evaluate how far economic development can be linked to the DTM.
Compare the population structure of an LIC Or NEE with one of a HIC.

How does uneven development lead to disparities of global wealth
How does uneven development cause international migratione
Hoe can industrialdevelopment reduce the development gap?

Explain why the use of aid must be sustainable if itis to be effective in raising a poor country's level of development.

1.
2.
3.
4,
5. Explain the link between trade and the development gap.
6
7
8
9.
1

0.How can debt relief help to improve the status of woman?
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Case Study: Economic Developmentin Nigeria

Nigeriais a NEE in West Africa. Nigeria is just
north of the Equator and experiences arange of
environments.

Nigeria is the most populous and economically

powerful country in Africa. Economic growth has

been base on oil exports.

Political

Suffered instability with a civil war between
1967-1970.

From 1999, the country became stable with free
and fair elections.

Stability has encouraged global investment from
China and USA.

Cultural

Nigeria's diversity has created rich and varied
artistic culture.

The country has a rich music, literacy and film
industry (i.e. Nollywood).

A successful national football side.

Carmoerocon

r¥aounde

Social

Nigeria is a multi-cultural, multi-faith society.
Although mostly a strength, diversity has caused
regional conflicts from groups such as the Boko
Haram terrorists.

Once mainly based on agriculture, 50% of its
economy is now manufacturing and services.
A thriving manufacturing industry is increasing
foreign investment and employment
opportunities.

TNCs such as Shell have played an important role
in its economy.

income.

- Profits move to HICs.

- Many oil spills have damaged fragile
environments.

+ Investment has increased employment and%

Nigeria plays a leading role with the African
Union and UN.

Growing links with China with huge investment
in infrastructure.

Main import includes petrol from the EU, cars
from Brazil and phones from China.

The 2008/09 oil spills devastated swamps and its
ecosystems.

Industry has caused toxic chemicals to be discharged in
open sewers - risking human health.

80% of forest have been cut down. This also increases
CO? emissions.

+ Receives $5billion peryear in aid.

+ Aid groups (ActionAid) have improved health
centres, provided anti-mosquito nets and helped
to protect people against AIDS/HIV.

- Some aid fails to reach the people who need it
due to corruption.

Life expectancy has increased from 46 to 53 years. 64% have access to safe water. Typical schooling

years has increased from 7 to 9.

“Evaluate to what extent, economic development

has improved the quality of people’s livesin
Nigeria”
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“Suggest how the UK benefits economically and
politically from its membership from the
commonwealth”

Case Study: Economic Change in the UK

The UK has one of the largest economies in the
world.

The UK has huge political, economic and cultural

influences.
The UK is highly regarded for its fairness and
tolerance.

The UK has global transport links i.e. Heathrow

and the Eurostar.

De-industrialisation and the decline of the UK’s
industrial base.

Globalisation has meant many industries have
moved overseas, where labour costs are lower.
Government investing in supporting vital
businesses.

Science Parks are groups of scientific and technical !

knowledge based businesses on a single site.

*  Access to transport routes.

* Highly educated workers.

+  Staff benefit from attractive working conditions.
+  Attracts clusters of related high-tech businesses.

The quaternary industry has increased, whilst
secondary has decreased.

Numbers in primary and tertiary industry has

stayed the steady.

Big increase in professional and technical jobs.

e Everyyear the UK makes 1.5 million cars. These

factories are owned by large TNCs. i.e. Nissan.

* 7% of energy used there factories is from wind
energy.

* New cars are more energy efficient and lighter.

* Nissan produces electric and hybrid cars.

Social

Rising house prices have caused tensions in
villages.

Villages are unpopulated during the day causing
loss of identity.

Resentment towards poor migrant communities.

-

Economic "rzi:

Lack of affordable housing for local first time
buyers.

Sales of farmland has increased rural
unemployment.

Influx of poor migrants puts pressures on local
services.

m

A £15 billion ‘Road Improvement Strategy’. This
will involve 10 new roads and 1,600 extra lanes.
£50 billion HS2 railway to improve connections
between key UK cities.

£18 billion on Heathrow’s controversial third
runway.

UK has many large ports forimporting and
exporting goods.

- Wages are lowerin the North.

- Health is better in the South.

- Education is worse in the North.

+ The government is aiming to supporta Northern
Powerhouse project to resolve regional

differences.
+ More devolving of powers to disadvantaged
regions. Page 48



Resource Challenges

Resources are things that humans require for life or to make our lives
easier. Humans are becoming increasingly dependent on exploiting these
resources, and as a result they are in high demand.

Significance of Water

Resources such as food, energy and water are what is needed for basic
human development.

FOOD WATER o= ENERGY

Without enough
nutritious food,
people can become
malnourished. This
can make themiill .
This can prevent

people working or warm. It is also
receiving education. needed for industry.

Demand outstripping supply

The demand for resources like food, water and energy is rising so quickly
that supply cannot always keep up. Importantly, access to these
resources vary dramatically in different locations

i
1. Population Growth ﬁﬁl* 2. Economic De\relopmentg
!

*  Currently the global * AsLICsand NEEs develop
population is 7.3 hillion. further, they require more
*  Global population has risen energy for industry.
exponentially this century. +  LICs and NEEs want similar
*  Global population is expected lifestyles to HICs, therefore
to reach 9 billion by 2050. they will need to consume
*  With more people, the more resources.

A good supply of
energy is needed for
a basic standard of
living. People need

light and heat for
cooking or to stay

People need a supply
of clean and safe
water for drinking,
cooking and washing.
Water is also needed
forfood, clothes and
other products.

demand for food, water, * Development means more
energy, jobs and space will water is required for food
increase. production as diets improve.

Resource Reliance Graph

Consumption —The act of using up
resources or purchasing goods and
produce.

Carry Capacity — A maximum
number of species that can be
supported.

Resource consumption exceeds
Earth's ability to provide! _f_

Time

3. Changing Technology and Employment

* The demand for resources has driven the need for new technology to
reach or gain more resources.

* More people in the secondary and tertiary industry has increased the
demand for resources required for electronics and robotics.

Food in the UK

Growing Demand

The UK imports about 40% of
its food. This increases people’s
carbon footprint.

*  There is growing demand for
greater choice of exotic foods
needed all year round.

* Foods from abroad are more
affordable.

* Many food types are unsuitable
to be grown in the UK.

Agribusiness

Farming is being treated like a
large industrial business. Thisis
increasing food production.

+ Intensive faming maximises the
amount of food produced.

+ Using machinery which increases
the farms efficiency.

- Only employs a small number of
workers.

- Chemicals used on farms damages
the habitats and wildlife.

Impact of Demand

Foods can travel long distances
(food miles). Importing food adds
to our carbon footprint.

+ Supports workers with an income
+ Supports families in LICs.

+ Taxes from farmers’ incomes
contribute to local services.

- Less land for locals to grow their
own food.

- Farmers exposed to chemicals.
Sustainable Foods

Organic foods that have little

impact on the environment and are

healthier have been rising.

Local food sourcing is also rising in

popularity.

+ Reduces emissions by only
eating food from the UK.

*  Buying locally sourced food
supports local shops and farms.

+  Athird of people grow their
own food.

The Challenge of

Resource Management

Energy in the UK

The UK consumes less
energy than compared to
the 1970s despite a smaller
population. This is due to
the decline of industry.

Changes in Energy Mix

*  75%ofthe UK's oil and
gas has been used up.

* Coal consumption has
declined.

*  UKhas become too
dependent on imported
energy.

Energy Mix

The majority of UK's energy mix comes
from fossil fuels. By 2020, the UK aims for
15% of its energy to come from renewable

sources. These renewable sources do not

contribute to climate change.

gzoog” )

Renewable

oi Gas
Mudear coal

Other

Waterin the UK

Growing Demand

The average water used per
household has risen by 70%. This
growing demand is predicted to
increase by 5% by 2020.

This is due to:

*  Agrowing UK population.

*  Water-intensive appliances.
*  Showers and baths taken.

* Industrial and leisure use.

*  Watering greenhouses.

Pollution and Quality

Cause and effectsinclude:

+  Chemical run-off from
farmland can destroy habitats
and kills animals.

+  Qilfrom boats and ships
poisons wildlife.

+  Untreated waste from
industries creates unsafe
drinking water.

+  Sewage containing bacteria
spreads infectious diseases.

Management

UK has strict laws that limits the
amount of discharge from
factories and farms.

Education campaigns to inform
what can be disposed of safety.
Waste water treatment plants
remove dangerous elements to
then be used for safe drinking.
Pollution traps catch and filter
pollutants.

Significance of Renewables

+ The UK government is investing
more into low carbon alternatives.
+ UK government aims to meet
targets for reducing emissions.

+ Renewable sources include
wind, solar and tidal energy.

- Although infinite, renewables are
still expensive to install.

- Shale gas deposits may be
exploited in the near future

~

Deficit and Surplus

The north and west have a water
surplus (more water than is
required).

The south and east have a water
deficit (more water needed than s
actually available).

More than half of England is
experiencing water stress (where
demand exceeds supply).

Water stress in the UK 4

Water Transfer

Water transfer involves moving

water through pipes from areas of

surplus (Wales) to areas of deficit

(London).

Opposition includes:

+  Effects on land and wildlife.

*  High maintenance costs.

*  The amount of enargy
required to move water over
long distances.

Energyin the UK (continued)

Exploitation

New plants provide job
opportunities.

Problems with safety and
possible harm to wildlife.
Nuclear plants are expensive.

Nuclear

Locals have low energy bills.
Reduces carbon footprint.
Construction cost is high.

Visual impacts on landscape.
Noise from wind turblner,‘age 49

Wind Farm



Topic: Power and the People 2

Year 11

: History

Subject

Catholic A Christian who follows the teaches Act of Su :
premacy 1534 A law passed by Henry VIII Henry King between 1509
of the Pope as leader of the Church. making himself Head of the VIII and 1547.He
Church of England. started the English
Protestant A Christian who does not follow the o - . Reformation, by
teaches of the Pope as Church Pilgrimage of Grace 1536 Catholics in Yorkshire and breaking from the
leader. Llnlct?!nshlr‘e rebel against Henry's Catholic Church.
- orTh oo o7 religious changes.
Economics The study of the productiono .
wealthand the exchange of goods Accession of 16256 Charles I becomes King of glwer I "::'P '::lr:’d-rt:lnd[\t}wner‘.
of services. Charles I England and Scotland. romwe ¢ led The New
Model Army in the
Reformation A period in which large populations Charles I dissolves 1629 Charles I begins to rule England English Civil War
in Europe split from the Catholic Parliament without the advice or consent of and then ruled
Church. Parliament. England for 9
. ; - . ears.
Divine Right of ""hc"{gm’-";]be"if in the ’l"“ddI: C‘Qisa Introduction of 1637 Charles I forces Scotland to Y
Kings :i i f:l:ulil:a; dewkézgcﬁozgi basgoj Laudian Prayer Book accept a new prayer book which Charles I Beheaded by
9 y Bod. in Scotland causes a the Covenanters Parliament in 1649
Puritan An extreme Protestant who believes Rebellion. Eﬂ-?r Tgyinfhfofr‘me
that peopleshould live a humble, Start of English 1642 Charles and Parliament start Tﬁgman withod
simple life of Christian worship. Civil War fighting a war for control of '
Royal Authority | Theunquestionedpower of the King England. George Leader of the
or Queenas ruler of the country. Execution of 1649 After a trial, Charles is found Washington | American
Charles I guilty of treason and beheaded. Continental Army
Civil War A war between different groups of and first President
peoplewithin the same country. Declaration of 1776 The Thirteen Colonies declare of the United
Independence independence from Britain. States.

What changed over the period?

Henry VIII ruled as an 'absolute monarch’,
meaning he personally controlled the country
and did not have to listen to anyone else. He
called Parliament as and when he needed to
raise taxes. 100 years later Charles I tried to
rule the same way and been beheaded for it. By
1689, Parliament had started to become more
powerful than the monarch. Ideas such as
democracy and representation had fueled this
change.

Always Remember...

Deeper Learning...

State three differences between Catholicism

+ The entire country was Catholic before
Henry VIII's Reformation of the English
Church.

» Protestantism spread the idea of
challenging the established authority,
including the authority of the King.

+ After the execution of Charles I, this
ideas never went away and eventually led
to the American Declaration of
Independence.

and Protestantism.

Explain the causes of the English Civil War.
Analyse the significance of the trial of King
Charles I in the short and long-term.
Project: Create a fact-file on the American
Constitution and the Declaration of
Independence.

Activity - 'The main cause of the English Civil War was the English Reformation.’ How far do you agree with this statement?
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Topic: Power and the People 3

Year 11

: History

Subject

What changed over the period?

At the beginning of the 19™ century slavery
was legal throughout the British Empire and
the Industrial Revolution was really just
getting going: most people still lived in the
countryside and farmed the land.

By 1900, slavery was illegal, most men in Britain
could vote (but not women) and there were
many laws protecting the rights of workers.
Most people now lived in huge cities and worked
in factories powered by electricity.

Industrial A period of change brought about Abolition of Slavery 1807 | Slavery was made illegal in the Henry Hunt | A radical orator
Revolution by new technologies allowing in Britain Brifish Isles who spoke about
factories to mass-produce. : g
reforming the
Suffrage The right to vote. End of the 1815 A huge series of wars against voting system at
Napoleonic Wars France. Peterloo.
: The study of th ductionof The First Great 1832 Middle-class wealthy people were : —
Economics wealthand the exchangs of goods Reform Act given the right to vote. Robert Peel mzma .mémr of
of services. Formation of the 1833 A loose organisation of campaign Kingdom who
Protest To gather together to publicly Chartist Movement. groups wanting voting reform. repealed the Corn
demonstrate disagreementwith the Law and invented
rules. Factory Act 1833 A law restricting working hours the police force.
and conditions in factories.
Parliament A group of peoplewho represent
the people of anationin making Poor Law 1834 A law which meant that illi i
isi William A prominent
decisions onhow to run the country. Amendment Act unemployed people were put info Wilberforce abﬂ'i-ﬁonisf
Abolitionism The campaign against slavery in the workhouses. carr::pailrgn;zr‘
British Empire. The Tolpuddle 1834 A group of men were sentenced against slavery.
Martyrs to transportation for trying to
Trade Union A group of worker who gather start a trade union.
together to negotiate for better Lord A reformer
pay and working conditions. Repeal of the Corn 1846 Removal of a law which taxed Shaftesbury r‘espﬁnsrl]b!e for
. Law food imported from abroad. great changes In
Chartists A protest group who wanted o P working conditions
chgnhge fhf rules onwho could vote Third Chartist 1848 A large petition of signatures in the 19
and how elections were run. Petition given to parliament by Chartists. century.

Always Remember...

The 8 Key Factors in Power and the People:

« War

+ Religion

+ Chance

+ Government

« Communication
+ The Economy

+ Ideas like democracy, equality and

representation
+ The role of the individual

Deeper Learning...

State the names of three protest groups in the
19th century and the years they were active.

Explain the causes of the Matchgirls’ and
Dockers’ Strikes in the 1880s and 1890s.
Analyse the aims of the Chartist movement.
Which would help the working classes the most?

Project: Research the conditionsin factories and
mines during the 19th century - were people right
to demand better conditions?

century.

Activity - Was communication the main factor in causing protest in 19" century. Explain your answer using a range of examples from across the 19t
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Topic: Power and the People 4

Year 11

Subject: History

Millicent
Fawcett

A campaigner for
women's suffrage
who formed the
Suffragist
movement in 1897.
(NUWSsS)

Emmeline
Pankhurst

A campaigner for
women's suffrage
who formed the
Suffragette
movement in 1903.
(WSPU)

Stanley
Baldwin

Conservative
Prime Minister
during the General
Strike in 1926.

Indus""’_ial ﬁ F:::\?feﬁil;?n%‘;sbgﬁgﬂli‘: about Formation of the 1897 The main women's suffrage
Revolution 'FZcfor'ies to mazg-pr'oduce.g NUWSS groups gathered into one.
Suffrage The right to vote. Formation of the 1903 The Suffragette group was set up
WSPU to take aggressive protest action.
. ; The end of WWI 1918 Millions returned home and the
Economics The study of the production of
wealthand the exchange of goods demand for many resources fell.
of services. Women gain the 1918 Some women over 30 gained the
Protest To gather together to publicly right to vote right to vote.
demonstrate disagreement with the
rules. The General Strike 1926 The miners, dockers and railway
workers went on strike.
Parliament A group of peoplewho represent
Lhe_P.EOPIe OEG nc;honmfﬁakmg + Women gain voting 1928 Women gained the same right to
ecisions onflow To run the country. equality with men vote as men for the first time.
i Work fuse t kin order t
Strike Pu?;r‘z;igﬁel;iebfs?:zzs :wo:e;r;n% The 'Windrush' 1948 Lots of working-age people began
the government. begins to move to Britain from the rest
of the Empire.
Trade Union A group of worker who gather
together to negotiate for better Rivers of Blood 1968 Enoch Powell MP makes a famous
pay and working conditions. Speech speech condemning immigration.
Immigrants Peoplewho move into the country The Miners' Strike 1984 | Coal-miners across the country go
fromanother, many immigrants on strike against mines closures.
came from the British Empire.

What changed over the period?

By the beginning of the 20™ century, Britain was
an advanced industrial nation and social changes
such as women's suffrage were dividing society.
The trade unions were at the height of their
power as workers campaigned for better pay and
conditions. During the 20 century the power of
the trade unions would diminish drastically and
Britain would be divided further when the
government invited lots of people from the
Empire to immigrate here in the mid-part of the
centfury.

Always Remember...

The 8 Key Factors in Power and the People:

« War

+ Religion

+ Chance

+ Government

« Communication
+ The Economy

+ Ideas like democracy, equality and

representation
+ The role of the individual

Enoch Powell

A Conservative MP
who spoke out
against the
immigration of
more non-white
people fo the UK.

Deeper Learning...

State the main trade union laws created by the
government after the strikes in the 1920s and
1980s.

Explain the consequences of end of WWI for
British social and industrial changes.

Was the economy was the main factor in causing
social change in the 20 century?

Project: Create a fact-file on the 'windrush’
generation and its impact on Britain.

Activity - Was the role of the individual was the main factor in causing of protest in the 20t century? Use examples from across the 20t century.
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Topic Islam beliefs

Subject RE Yearll

ey Vocabuiary.. Jl  Muhammad

Tawhid Oneness & supremacy of Allah

Risalah Belief in prophet hood

Akhirah Belief in life after death

Day of Belief that people will be judged on how

Judgement they havelived theirlife as a good Muslim.

Sunnah Following the teachings & actions of
Muhammad

Night of The first night of the revelation of the Quran

Power

Night The night Muhammad went on a miraculous

Journey journey toheaven (Jannah] totalkto the
prophets

Hijrah The journey Muhammad made from Mecca
to Medinato escape persecution

Ummah The Muslim community

Six articlesof | Sunni Muslim key beliefs: Supremacy of Allah,

faith Tawhid, Day of Judgement, authority of the
Quran, authority of prophets and angsls

Five roots of Shi'a Muslims beliefs: Resurrection, imamate,

usul ad-Din prophets, Tawhid and Judgement Day

Muhammad received the first revelation of the Quran from angel Jibril on the
Night of Power

Muhammad in Mecca: Three years after the first revelation Muhammad began
preaching the words he had received from Angel Jibril: there is only one God
and complete surrender to God is the only way to live life. He challenged the
people of Mecca to give up cheating, drinking alcohol, gambling and idol
worship. This was not the message the leaders of Mecca wanted to hear so he
was persecuted. He left Mecca to avoid persecution in 622CE and went to the
city of Medina. This is known as the Hijrah (departure) and is the beginning of
the Ummah (worldwide Muslim community).

The Night Journey

Before the Hijrah Muhammad had a miraculous experience. Angel Jibril took
Muhammad on a journey to Jerusalem. This event is known as the Night
Journey. Muhammad was carried on a horse-like creature with wings to
Jerusalem and then he ascended to heaven and spoke to other prophets like
Jesus. He was told that Muslims should pray 5 times every day. When he

returned he circled the Ka’aba 7 times.

It is important for Muslims to follow the example of Muhammad
because firstly, Muhammad is a role model and is an example of a
perfect human being. He is a living example of Allah’s message.
Secondly, Muhammad is the last prophet who Allah gave his final
message/Qur'an to - the seal of the prophets. Muhammad’s teachings
and actions called Sunnah, influences how a person lives their life. The

Always Remember...

Tawhid

Muslims believe in the Tawhid: the oneness
& supremacy of Allah. All the prophets
taught people to believe in the Tawhid. The
Quran says: “He is God, the one, God the
eternal ...No-one is comparable to Him."

Sacred writings

. [--—--7/""}/"'*\ lslam {— YT

KHe is God the one, God )\ L “Each person has angels |

\/- the eternal.... No one is ) before him & behind A
\,__ comparable to Him.” ~ / him, watching over him |
(Quran) by God's command.” /
. ) J K (Quran)
NN ~_ /]

Sacred writings are sources of authority T \\__ .
Sacred writings are sources of authority

Deeper Learning...

slam —~ YN e —
— / Y X Islam o ~ v
|~ - .
f
| _ }
|‘/ Ob:ll‘::s‘:i::"“he / “God is well aware of \
N ) ~ whatever good you do.” |
? (Quran) \ (Quran) N
N < /J '\ J."’
— A — <. L~
-/ )
Carred writinoe ata tireataf antharine B \\" /
Tslam

Muslims have many beliefs about angels. Firstly, Muslims believe angels
are spiritual beings of light and have no free will so follow Allah’s willand
give messages from Allah to humans. Jibril, (Gabriel) for example, is a
special angel (archangel) who gave the words of the Quran to Prophet
Muhamad as this is what God wanted. Secondly, Muslims believe that
angels are involved in the lives of humans from conception to death.
Some angels are guardian angels who take care of each person through
their lives. Other angels are responsible for writing down in the Book of
Deeds everything a person does. This book will be used on the Day of
Judgement to decide if a person goes to Paradise of Hell. The sacred
writing about angels in the Quran is: “Each person has angels before him
and behind, watching over him by God’s command.”(Qur’an). This sacred
writing shows that Muslims believe angels have an important role in the
lives of humans and connecting humans to Allah and the belief in angels
is one of the Six Articles of Faith.

Sunnah teaches Muslims how to carry out Allah’s will in their daily

lives, for example, how to pray five times every day. The sacred writing
which shows Muhammad's importance is: “He (Muhammad)is God's
messenger and the seal of the prophets.” This shows that Muhammad
is the last prophet, no other prophet is to follow and that Muhammad

is seen a the perfect prophet. He is the most important prophet of
them all and seal of the prophet means he is the superior prophet.

Create a connection map to show the links
between Muslim beliefs and Muslim
practices: show how the beliefs in the six
articles of faith (Sunni) and the five roots of
Usul ad-Din (Shi‘a) link to the Five Pillars of
Islam, the celebration of festivals and the
Ten Obligatory Acts.

Activity - Plan your evaluation answer to 12 mark questions.

1. “The Quran contains all the guidance that Muslims need to live a perfect Muslim life.”
3. Predestination means Muslims have no free wil." {12)

better role models thanthe angels.”

2. “For Muslims, the prophets make
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Topic Islam Practices

Subject RE Yearll

Key Vocabulary... Picture This...

Always Remember...

Allahis at the centre of a Muslim's
life which isreflected in the way they
live their lives and the practices they
perform. The Five Pillars of Islam, for
example, celebrating Id-ul Fitr & Id-
Ul-Adha and the greater jihad to be
a good Muslimshows their beliefin
the Tawhid.

EE . / \/ S \ lslam . \(»* —\/’7'3/’7"\

/- %
A
/ “Obey God and the /\ g “God is well aware of
\ Messenger.” whatever good you do.”
(Quran) \ / % (Quran) \
\ |slam — D )

Istam o < o O A
/ = “It was the month of \
/ Ramadan that the

A “He is God the one, God Quran was revealed as

< the eternal.... No one is guidance for mankind,
comparable to Him.” \ so that month you

( (Quran) / should fast.” /"

- — (Quran) .

Sacred writings are sources of authority

Sacred wnhngs are sources of authority

Create a connection map to show the
links between Muslim beliefs and Muslim
practices: show how the beliefs in the six
articles of faith (Sunni) and the five roots
of Usul ad-Din (Shi‘a) link to the Five
Pillars of Islam, the celebration of festivals
and the Ten Obligatory Acts.

Shahadah Declaration of faith in Islam Rak’ahs | Asetpatternof prayer movements
and recitations when praying.
- - Muslims face the city of Meccain
Salah Five daily prayers pray.
Rak’ah A set pattern of prayer movements and -
recitations when praying. Wudu Washing before prayers to show
respect to Allah.
Jummah Special Friday prayers. Men are expected
to attend the mosque.
Sawm Fasting during the month of Ramadan. ) . .
Ramadanis the month when angel Jibril Ka'aba ITQ%ET:’iﬁ:lfﬂllﬁ gslilﬁgrfwi.r;rophef
started torecite the Quran to Ka'aba, built by prophet Adam
Muhammad. was destroyed. On the Hajj Muslims
_al. The Night of P hen Muh d circle it 7 times to remember that
Laylat-al regeixl/%d TC;]e g\:)v:e(;r:/v en vivhamma Prophet Muhammad did when he
Qadr ' returned from the Night Journey.
Zakah Muslims give 2.5% of their savings to charity lhram On the Haj pilgrims enter a
everyyear. This is almsgiving. state of Ihram by washing,
. - praying and wearing a white
Hajj A spiritualjourney to Mecca. Muslims sheet
make this pilgrimage once in their lives. | :
The holy shrine of Islam, the Ka'aba, isin Circle Muslims circle the Ka'abato
Mecca. the show Allahis at the centre of
Jihad The struggle against eviland to live a life Ka'aba their lives.
to submit to God to please Allah.
|d-ul-Fitr A festiva which celebrates the end of - - —
Ramadan. Standing | Muslims spend al day prayingin
- - at Arafat | the hot sun to remind them
Id-ul Adha | Afestivalwhich celebratesProphet what Judgement Day might be
Ibrahim’s obedience to God as he was " . :
wiling to sacrifice his son, and this festival ke and asking for forgiveness.
marks the end of Hajj.
: —— - Throwing | AtMina they throw stones at
Ashura A festivalwhich is important to Shi'a pebbles three stone walls to remember
Muslims as they remember the death of at Mina Ibrahim and how he reiected
Husaynin the battle of Karbala. . . I
sin, temptation and evil.
The Five Pillars of Islam
- - - - - Sacrifice | As part of the festivalof Id-ul-
The Five Pillars of Islam are.f|ve duties Muslims an AdhaMuslims sacrifice an
perform to submit to the will of Allah, to be animal animal and the meat is given
good Muslims and to live a perfect Muslim life. fo family and the poor.
Activity - Plan your evaluation answer to 12 mark questions.
1. “The Shahadahis the most important pillar of Islam."

2. "'ld-ul-Fitr & Id-ul-Adha should be public holidays in Britain.”  3."The lesser jihad is more important than the greater jihad.”
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Gradual Transformation: When a melody or rhythmic pattern gradually change shape.
Metamorphosis: A short motif is changed gradually; one note at a time is changed so that the music completely changes over a period of time,
Additive Melody: A short motif is gradually changed by adding a note at a time or changing a note for a rest

Subtractive Melody: A short motif i gradually changed by talang sway//subtracting & note 8t 8 time of changing & note for 8 rest

Phase Shifting: Two or more parts begin with the same motif, these gradually move out of and then back into phase.

Polyphonic Texture: This literally means ‘different sounds or voices”. Polyphonic music has parts that weave in and out of each other. Polyphonic music is also sometimes
called contrapuntal music.

Diatonic Harmomy: Diatonic harmony is 8 Tancy way of saying chords or notes that relate to a certain key — ie. they should work well together,

Phasing: Phasing is a compositional technique in which the same part (a repetitive phrase) is played on two musical instruments, in steady but not identical temipi.

Ostinato: A short repeated pattern,

Pulse: The beat of the music. Every plece of music has a heartbeat. It doesn™t need to be played by drums - you can Teel” the beat

Rhwthm: Notes have different lengths, some long, some shorl. When we combine kong and short sounds, it creates a pattern, which is a riythm.

Pitch: Pitch is a variation of high and low sounds. Pitch increases and decreases by steps of a scale. Scabes are Major and Manor.

Tempo: Tempo means the speed of the music. Musc can change tempo within 3 piece. We descnbe tempo using Halian words.

Drynamics: Dynamics means the volume of the music. Music can changs dynamics within a piece. We describe dynamics using Ralian words.

Structure: Music is divided into sections. The order of these sections creates a structure. Song structure includes Chorus, Vierse, Instrumental etc

Texture: A single melody creates a thin sound. Adding more parts/layers creates a bigger sound. These layers can interact with each other,

Timbre: Each instrument has 2 unique sound and sounds differant to others. This indrddual sound quality is called Timbre,
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Originge - African slaves brought their
musical traditions with them when they
were transported to work in the North
American colonies. These Work songs were
sung rhythmically in time with the task
being done. Their songs were passed on
orally (word of mouth) and were never
usually written down. They used call and
response where phrazes from a lead singer
were followed by the others. Early styles of
Blues was known as country blues and was
usually a solo singer accompanied on guitar
or piana sometimes with added harmaonica
or drums.

12 Bar Blues — The 12 bar blues s the name
of the structure used in blues music, It is
split in to 3 sections, which have 4 bars

Chords — A chord is 3 notes played together
at the same time. A chord is alsa called a
triad. Blues music only uses 3 chards which
are played at the start of every bar,

cift il /il <lif

FiI EI i Sl

G/ff ®H il il

Improvisation - Improvisation is where
music is performed “on the spot’, Music
that is improvised isn't traditionally written
dowm, and the performers will use their
musical knowledge to perform something
fram scratch. In Blues music, the
improvisation is usually the notes from the
Blues scale,

Blues Scale — The blues scale is a cértain
selection of notes that have been put
together to sound "bluesy’. The scale is
often used to create the improvisation.

Song Structure— Moadern
Blues songs can sometimes
follow modern pop song
structure (Verse-Chorus),
Older Blues songs usually
consist of 3 lines. Lines 18 2
are the same, and line 3 is
usually different. (This also
ties inowith the 12 chards).

Thee structure wied in Blues music.
Theere are ¥ lines of & bars.

A sebection of notes that are put
‘together to create 3 ‘bluesy’ scale.
Thet blwas scals i used for the notes

during improvised sections of music,

Lyrics — The yrics of Blues
songs were often about
depression, lack of
maney/emplayability,
loneliness and them missing
their family. The lyrics of
line 1 & 2 are usually he

Walking Bass - The walking bass is the
main part of any Blues song. This is usually
played by the bass guitar. The tempo of the
bass line should be steady, which is why it
is called the “walking™ bass.

'EE‘{.I-rl"-'ulJ-'
' s aE 8 e A

L] kA E

WooaA QA A WaAaAN

same, with line 3 being
different.

Musical Elements — Musical
elements are often used
separately and together to
help create the mood and
expression the emotion on a
SOng.

Composers
Robert Johnson
Muddy Waters
Etta James

The chords are played at the
beginming of each of the 12 bars.
Thee chords used in Blues are C, F &

Q.
Buls for a chord: play & mobe = mizs
a motE = play @ notE = Miss 8 notE =
play 3 mots,

Improvisation i where music i
played and made up ‘on the spot’,
Music that is improwvised is not
wsually written down, and not pre-
planned,

Theé ndemeé or the badiling heard in
Blues music_ 1t i usually played at &
“walking” tempa.

Call ana
Reipor

A performed plays/pngs a ‘call’ and
thi aither performant will ‘respoad”.

Wider reading

F i /Bl

hittps: misswardmusic com

https./fwww.educationguizzes.com/ks3/mus

ic/jarz-improvisation-01/

ues hitrml
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GCSE Physical Education — Sports Psychology

Classification of skill
Skills are specific tasks that can be learnt and
practiced. i.e. Golf swing / Lay up / Tennis volley

Continuum = sliding scale of extremes at each end

Environmental Continuum — Open/Closed skills_
: % 3

COMPLEX BASIC/SIMPLE

Skilful Movement

* Efficiencye.g. no wasted energy — good timing
* Pre-determined e.g. planned like a routine

* Co-ordinated e.g. run and kick/hit

*  Fluent e.g. one skill transfers into another

* Aesthetic e.g. technique looks good

SMART Targets
Goal setting motivates performers
* Short Term goals:

Specific

Mental Preparation

* Imagery e.g. pictures in the mind

» Mental Rehearsal e.g. internal view / external view

» Selective Attention e.g. filtering relevant
information

* Positive Thinking (self talk) e.g. rehearsing success

* Concentration —

Mental Preparation for Performance

Mental rehearsal/Imagery involves the athlete

imagining themselves in an environment performing a

specific activity using all of their senses.

This can be used to: -

* Familiarise the athlete with
a competition site or a complex
play pattern or routine.

* Motivate the athlete by recalling
images of their goals or of success
in a past competition.

* Perfect skills or skill sequences the
athlete is learning or refining.

* Reduce negative thoughts by
focusing on positive outcomes

Measureable Achievable

Feedback

Vital part of information processing which provides
confidence, motivation and improves performance.
Intrinsic feedback: This comes from within the performer.
Kinaesthetic senses provide feelings from muscles/joints
about the action.

Extrinsic feedback: This comes from results and match

analysis. lt“[,
1.Knowledge of results —the outcome 1
2.Knowledge of performance —technigues used | =

Knowledge of Results: Information provided to the athlete
detailing stats and data from the event/training
Knowledge of Performance Information provided to the
athlete after the performancein terms of technique and
tactical decision making.

Guidance (Positive & Negatives)
Visual guidance: Learners are shown
the whole action by the coach. i.e. demonstration/use of
video playback.

Verbal guidance: Learners listen to
information given to a performer

often using associated terminology.

i.e. instructions told to a team.

Manual guidance: Coaches will physically
move a performer and supportthem in
performing a skill. i.e. Trampolining
somersault support.

Mechanical guidance: Learners use equipment to help
supportthe practicing of a skill.
i.e. floats during swimming stroke
development.

Recorded

* Long Term goals:
*  Qutcome goals: result based
* Performance goals: technique based

Targets must be concise
and clear.

“To take a 0.5 second off
my time personal best
time”

Must be measured and
compared. Easy to
monitor.

“I will time my runs
every training session
for the next five weeks
of training”

Target must be
challenging but yet
reachable. Motivating.
“My coach and | devised
the training programme
around improving leg
power for my start”

Needs to be recorded to
track progress.

“We keep a diary of times
and distances for every
training session to inform
the planning for the next
one and plot progress
against our aim*“

Set for a particular time
to be completed.

“We agreed to do the
training programme
four times per week for
the next five weeks”
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GCSE Physical Education — Health, Fitness and Well-Being

Lifestyle choices — the decisions we make about how we live and behave that impact on health.

Diet Activity levels Work/rest/sleep balance
Eating healthy Eating unhealthy Active lifestyle Inactive lifestyle Good balance Poor balance
1. Boostsenergy levels 1. Leadsto deficiencies 1. Boostsself esteem 1. Increasesrisk of 1. Improves mood 1. Increasestherisk of
2. Reduces the risk of 2. Increases weightand 2. Reduces stressand disease 2. Increases depression
developing serious % body fat anxiety 2. Decreases muscle productivity at work | 2. Leadsto weight gain
health conditions 3. Causesdepression 3. Improvesfitness mass, strength and 3. Contributes to 3. Increased blood
3. Help lose weight with poor body shape levels energy levels quality of sleep pressure
Well being —a combination of physical, emotional and social health. Recreational drugs — these are taken for pleasure and are legal to those over a
certain age. -
Positives effects of training/exercise on: Smoking

Causes breathlessness and reduces the oxygen-carrying capacity.
This affect aerobic ability for endurance events. Smoking
(nicotine) increases the risk of lung cancer, bronchitis, pneumonia & emphysema.

Physical health

» Stronger bones (increased bone density)
* Lower cholesterol / reduced obesity %
* Increase/development of components of fitness
* Increase life expectancy Alcohol - contains chemicals which act on the brain affect judgement.

Emotional health ) ¢C i , '

* To increase self esteem/confidence — increased endorphins released ? p 4

* Reduced risk of age-related diseases - dementia
* Relieve stress and tension

Balance, co- Diuretic — Reduction Liver

* Fun/enjoyment / reduced boredom ordination increased of glycogen problems

and water levels levels and
Social health reactions in urine and slc_>wer_
* To develop teamwork skill Social benefits may vary are affected canee lactic acid

dehydration removal
* To meet new people/friends depending on age group: .
* Develop communication skills 1. Elderly Sedentary lifestyle — a lifestyle with no or irregular physical activity. This includes
* Develop leadership skills 2. Children sitting, reading, watching television & playing video games.
Health risks associated are:

Negative effects of training on: * Heart disease
* Physical health — overexertion leading to heart failure / overuse injuries * Type 2 diabetes
* Emotional health —training can lead to injury and cause depression *  Obesity
* Social health —training long hours means less time spent with family. * Osteoporosis

* Depression

Impact of a sedentary lifestyle on weight
Overweight — weighing more than the expected weight for height and gender / Overfat — high percentage of body fat
Obese — weighing significantly more than expected.
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GCSE Physical Education — Health, Fitness and Well-Being

Term Definition/notes/concept

Keywords:
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GCSE Physical Education — Performance-enhancing dugs and Ethics

Performance Enhancing Drugs (PEDs)
The rewards that come with winning are so great that athletes are increasingly temped to

cheat. Fame, money and pressure are commonly cited despite the health risks or even death.

Beta
Blockers

Anabolic
Steroids

Stimulants

Diuretics

Peptide
Hormones

Reason for athlete
taking this

Slows heart rate, calms
and steadies hands

Promote muscle growth
and promotes a faster
recovery time

Increased alertness and
reduce tiredness

Rapid weight loss from
removal of fluids.
Masks other PEDs

EPO —increase Red
Blood Cell production
Growth Hormone —
increase muscle mass

Lowers blood pressure and
oxygen delivery to muscles

High blood pressure,
aggressive behaviour &
develops male features

Heart rate irregularities &
increased aggression.

Dehydration, nausea and
headaches. Heart and
kidney failure.

Increased blood
thickness/blood clot

Abnormal growth

Sporting example who
might use it

Target
sports

Power
Events -

100m '
[/

Boxing
100m sprinter

Jockey
Boxing

Cycling
Weight lifting

Deviancy
Sportsmanship — the qualities of fairness and following the rules.
i.e. shaking hands after a match

Etiquette — customs e.g. good manners

Gamesmanship — Bending the rules to gain an advantage i.e.
fainting injury to waste time

Deviant behaviour — Behaviour that goes against the norms of
society or the rules of a sport. This type of behaviour causes
negative role models. i.e. drug taking or biting a player

Consequences:

1. Punishment—red card/sin bin/bans

2. Loss of sponsors / contracts with clubs

3. Damaging own reputation or club/country

SARFRIG

Violence — A deliberate action with the intend to cause harm or
injury.

Reasons for player violence:

* The importance of the result.
* The nature of the game.

* Provocation.

* Disappointment or frustration.
» Crowd behaviour.

* Emotional intensity.
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GCSE Physical Education — Performance-enhancing dugs and Ethics

Term Definition/notes/concept

Keywords:




GCSE Physical Education — Participation rates and Commercialisation.

Age —The reason why different age groups
participate canvary based on access, cost,
time available and the nature of the
activity.

Ethnicity — The number of ethnic groups
(black, white & other minorities) playing
sportare on the rise. Reasons for the
difference include stereotypes, cost and
cultural influences.

Participation rates — The number of people taking part in physical activity.

Gender— Men and women can participate
for different reasonsincluding image, cost,
time and society. Increased media
coverage has helped remove many
stereotypes.

Data — facts and statistics gathered to highlight
information. Shown in table or graph format.

Trends - a general direction in which something is
developing or changing.

Socio-economic group — This is determined
by profession and available income. Factors
include cost, availability and time. i.e. golfis
far more expensive to participate than
athletics.

Disability — This can be a physical or
mental impairment. Activities and rules
are often adapted i.e. Wheelchair tennis.
Other barriers include availability, costand
access.

Reasons for non-participation

Media Coverage — lack of coverage of some
sports

Environment & Climate — denotes which sports
are more or less relevant for an area

Time — work commitments reduce activity
Resources — facilities & provision

Role Models — lack of direction & peers

Agencies

Sport England — Agency that looks after sport
participation across the country including elite
athletes.

Department of Culture, Media and Sport —
Department of the government responsible for sport
in the United Kingdom.

National Governing Bodies — Agencies that are
responsible for their specific sport within the country.
They focus from grassroots to the elite level.

AN
et England
oss n2i3a  BADMINTONT@)

Sponsor

Player/Performers

Commercialisation - Sport, media and commercialisation are closely linked in a what is known as a ‘GOLDEN TRIANGLE’

Commercialisation/Business

* Encourages deviant behaviour due to the
pressure of success.

+ Generally, favours male over female and
able bodied over disabled.

= Allows athletes to earn
income as a full time job.

= Can lead to additional
roles post playing career

» Poor behaviour from athletes/clubs causes

of brand leading negative media attention.

to increased = Smaller sponsors might struggle to compete with
sales larger more global brands.

* Raise awareness

* Displays * Some sponsors are not suitable to be promoted within the sport. * Sponsorship might be short term. Sport Media
goodwill within sport. i.e. tobacco Spectator Piayer s (e o ar macrgen T, rode.

* Tends to only support the popular sports. = Offers a wider choice of sports available to
* The influence of TV has caused an increase in adverts watch.
and changed TV timings (traditions lost) = Viewing experience has ben enhanced due
to technology

* Encourages spectating not participating.

* Can become very expensive for
fans/spectators.

* Affects view experience - increased TV breaks.

= Raises the profile of the sport due to
increased exposure.

= Changes to sport format/rules to
make audience friendly.
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GCSE Physical Education — Participation rates and Commercialisation

Term Definition/notes/concept

Keywords:
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Devising Log Knowledge Organiser

Section 1 — Response to stimulus (20
marks)

s Start by describing the stimulus you
were given chosen.

*  What was your first response to the
etimulusg

. What were the different ideas,
themes and setfings you
considered and how and why yvou
reached your final decision. What
did you discuss as a group?

*  Whaot YOU discovered from your
research. Where did yvou collect
vour research frome

. Whaot YOUR own dramatic aims
and intentions are — what do you
want to achieve with your
characters

*  What are the overall cims and
objectives of the piece —what
message would you lke to convey®

»  What style did yvou choose to

[} ~

Section 2 - Development and Collaboration (20
marks)

' How did yvou develop and refine yvour ideas
and those of the others in your group?

"  How did you develop your piece in
rehearsalzg

"  How did you structure your rehearsalsg Did
you have notural leaders? Did you hove
different responsibilities®

"  How did you develop and refine yvour own
theatncal sklls during the devising process2

" What problems did youw encounter dunng
rehearsals and how did yvou overcome them?

* ‘Whaot dramma conventions [technigues] did
vou decide to use and why

" What structure did you decide for your
drama and why?

"  How did you give and receive feedbock
throughouwts

" How did vou respond to feedback
throughout the process?

"  How yvou used yvour refined theatrical skills in
the final performance.

" How did yvou demonstrate your use of vocal

=] =l =8 =] =515 E—ooooo—s ab e allia—e)

Section 3 = Analysiz and Evaluation (20
marks)

»  How far did you develop your theatncal
skillz2

' What benefits did you bang to the group
and in what way did you help to shape
the final piece®

*  What was the overall impact you
personally had on the devising, rehearsals
and performance of your drama®

*  Which areas of devising did not go as well
as you would have hoped or could have
been developed furthers

*  What did yvou hope to achieve from your
perdormance? Were yvou successful? How
do you think you achieved thisg If vou
weren't successful why not2 What would
you change?

* Choose an aspect of yvour contrbution to
the final pizce to write about in more
detail — wihat yvou did, what wos successful
about it and what could have been
improved?

»  What feedback did you get from the
audience about your work? Did they
vnderstand your work? Would vou

~hmma Aradhieo Hhar emmccd AT

Challenge

need to provide precise details and an
impressive amount of creativity. Check
your work to make sure your creative
Joumey is clear and that you have
backed it up wath specific details.
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